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MATHS

BOOKS - NAGEEN MATHS (HINGLISH)

INTEGRATION

Solved Example

1. Evaluate :/335 dx

o Watch Video Solution

2. Evaluate /\/E dx

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_moBtwALLeo3C
https://dl.doubtnut.com/l/_CsYEhqYR3Xqs

1
3.Eva|uate:/— dx
2

o Watch Video Solution

4.Eva|uate:/\/1— cos’zr dx

o Watch Video Solution

1
5. Evaluate:/— dx
cosec X

o Watch Video Solution

6. Evaluate:/ (6sinx) dx

. Y


https://dl.doubtnut.com/l/_CsYEhqYR3Xqs
https://dl.doubtnut.com/l/_FWJ4Sm9IrJyE
https://dl.doubtnut.com/l/_iRWCOEKygyuE
https://dl.doubtnut.com/l/_WC9K0yeeuGW2
https://dl.doubtnut.com/l/_geSdT8nsN82e

{ ' Vvald viaco >O1ution

1
7. Evaluate : /(36“’ - + secxtanx)dx

A.e” —log, x +secx + C
1

B.3e” — 5 log,z + tanz secx + C
1

C.3e” — 5 log,xz + secz + C

D.3e” + log.x + secx+ C

Answer: C

° Watch Video Solution

1 2
8.Eva|uate:/ (a:—i—;) dx

3 1
A.w——|—2az———|—C’
3 T


https://dl.doubtnut.com/l/_geSdT8nsN82e
https://dl.doubtnut.com/l/_fRKwsZWLVCyZ
https://dl.doubtnut.com/l/_0DmCxh0zWAAi

$2

1
B.— +2zx — — +C
2 T

3

T 49 L ¢
C.?—i— :E—F—F

1
D.(z) +2z — — + C

i

Answer: A

° Watch Video Solution

4
9. Evaluate:/
2 +1

o Watch Video Solution

1
10. Evaluate:/ 5
sin“z cos?z)

o Watch Video Solution



https://dl.doubtnut.com/l/_0DmCxh0zWAAi
https://dl.doubtnut.com/l/_jG9CxPK7KNIa
https://dl.doubtnut.com/l/_tmPr7bdgs05I
https://dl.doubtnut.com/l/_0sUyOkQxzbQL

4 2
11.Eva|uate:/(aw + bz +C) dx

x4

o Watch Video Solution

|2 E . /

° Watch Video Solution

sinx
13. Evaluate : / dx
cos2x

° Watch Video Solution

elog X
14. Evaluate : / dx
T

o Watch Video Solution



https://dl.doubtnut.com/l/_0sUyOkQxzbQL
https://dl.doubtnut.com/l/_LobqA1JTzEvS
https://dl.doubtnut.com/l/_47sS7kHTiraa
https://dl.doubtnut.com/l/_mRJ3Ys5u0t3t

2

4 )
15. Evaluate : / +3sinx dx
CcoS?*x

° Watch Video Solution

secx + tanx
16. Evaluate :
sec x- tan x

° Watch Video Solution

17.Eva|uate:/sec2 3x dx

o Watch Video Solution

18. Evaluate : /\/4 — bxdx

o Watch Video Solution



https://dl.doubtnut.com/l/_mRJ3Ys5u0t3t
https://dl.doubtnut.com/l/_gsAC2Iml8JNc
https://dl.doubtnut.com/l/_mdwo6QPKtqYn
https://dl.doubtnut.com/l/_pTrt9cu6CVWR
https://dl.doubtnut.com/l/_U9viMDpauUqv

1
19. Evaluate : /(— dx

3¢ + 4)°

o Watch Video Solution

1
20.Eva|uate:/— dx

V1 —9z2

o Watch Video Solution

1
21.Evaluate: |———— dx
/b2 + a2z?

° Watch Video Solution

22. Evaluate : /sin2 x dx



https://dl.doubtnut.com/l/_U9viMDpauUqv
https://dl.doubtnut.com/l/_51IOyCoGSYLU
https://dl.doubtnut.com/l/_Fje7OzaSheRC
https://dl.doubtnut.com/l/_2z9qLvBgkpLJ
https://dl.doubtnut.com/l/_xmpfWp6iQMan

| ¥ Vvatch Video Solution

23. Evaluate :/ sin bx . cos xdx

o Watch Video Solution

24, Evaluate:ﬁr:3 cos zt dx

° Watch Video Solution

25. Evaluate: /n 2" 1. cos z" dx

o Watch Video Solution

26. Evaluate :/
1+ x4

r


https://dl.doubtnut.com/l/_xmpfWp6iQMan
https://dl.doubtnut.com/l/_5BfNXMO3NRhQ
https://dl.doubtnut.com/l/_2HglTRU2nZoO
https://dl.doubtnut.com/l/_FsEJZOLBroBp
https://dl.doubtnut.com/l/_4UZzPRiEAU8P

I ° Watch Video Solution

log x

27. Evaluate: / dzx

T

° Watch Video Solution

d
28. Evaluate /—m

T+ /T

° Watch Video Solution

3
ds

29. Evaluate :/
1+ 28

° Watch Video Solution



https://dl.doubtnut.com/l/_4UZzPRiEAU8P
https://dl.doubtnut.com/l/_En5W7mzSNMQg
https://dl.doubtnut.com/l/_eXqIlgtgzIl7
https://dl.doubtnut.com/l/_bqvnNplGlzpR

30. Evaluate : ﬁ?’\/:cz — 4dzx

o Watch Video Solution

31. EvaIuate:fc sin®z2. cos z2dz

o Watch Video Solution

1—|—10:1:2
32.Eva|uate:/( wg) — dx

° Watch Video Solution

4
33. Evaluate:/w +1
6 +1

o Watch Video Solution



https://dl.doubtnut.com/l/_98Gj4iPtA9br
https://dl.doubtnut.com/l/_NTbB6VESkiVX
https://dl.doubtnut.com/l/_Sm3sF9OnJGxy
https://dl.doubtnut.com/l/_lX4lLQKAsx4G

1.3

2 _
tan
34. Evaluate: /udx
1+ x6

o Watch Video Solution

msin 'z
35. Evaluate : /—ds
V1—ax2

o Watch Video Solution

1
36. Evaluate : /—dw

x2cos? (l)
X

o Watch Video Solution

37. EvaIuate:/ T
xt + 2

| -


https://dl.doubtnut.com/l/_lX4lLQKAsx4G
https://dl.doubtnut.com/l/_isu10BQjtFTq
https://dl.doubtnut.com/l/_jVlh0R7g9BgB
https://dl.doubtnut.com/l/_GDaFANpnz7yb
https://dl.doubtnut.com/l/_kSI354KmfDDe

| & Watch Video Solution

T _ o

38. Evaluate :/e—dx

o Watch Video Solution

in(z — a)
39. Evaluate : /s_—dw
sin(x + a)

o Watch Video Solution

sin(2z)
40. / de =
a

cos? z + bsin’ x

° Watch Video Solution

dx

1
41. Evaluate :/
e —1


https://dl.doubtnut.com/l/_kSI354KmfDDe
https://dl.doubtnut.com/l/_Aerd73mbiQph
https://dl.doubtnut.com/l/_opckKr9VLdUY
https://dl.doubtnut.com/l/_7WbRdiGJLdLt
https://dl.doubtnut.com/l/_xoEdO08BSWQm

o Watch Video Solution

— tanzx
42 Evaluate: [—— dx
1+ tanzx

o Watch Video Solution

an(sin_ 1 :c)
43. Evaluate : dx

V1— g2

o Watch Video Solution

sin 2x

44.Evaluate : - -
/ sin bx. sin 3x

o Watch Video Solution



https://dl.doubtnut.com/l/_xoEdO08BSWQm
https://dl.doubtnut.com/l/_kfNBBPg3j3i9
https://dl.doubtnut.com/l/_g68mF1Idw1Ka
https://dl.doubtnut.com/l/_Sxho568kNsdq

cost (log x
45.Eva|uate:/ (wg )

o Watch Video Solution

1
46. Evaluate :/ _ dx
cos (x+a) . sin (x+b)

° View Text Solution

1
47. Evaluate :/
4 + x2

o Watch Video Solution

1
48. Evaluate : /— dx

A.log‘e_”’ + e T — 1‘ +c


https://dl.doubtnut.com/l/_tUQhlP4iHewN
https://dl.doubtnut.com/l/_So9UQPDi00fZ
https://dl.doubtnut.com/l/_bSIgVoVAtEYt
https://dl.doubtnut.com/l/_ZwriyBXVslcX

B.—log)ew + Ve 4 1‘ +c
C.log‘e_m +1/e % — 1) +c
D.—log)e‘x + /e % — 1‘ +c

Answer: D

° Watch Video Solution

49, Evaluate: /— dx
2+ coszx



https://dl.doubtnut.com/l/_ZwriyBXVslcX
https://dl.doubtnut.com/l/_GmEhe6RVxCIU

Answer: D

° Watch Video Solution

a+t+x
50.Eva|uate:/ * dz
a—
2
A.asin_l(—>— az—xz—i—c
a
N
B. 2a sin 1(—)— az—w2—|—c
a
T
C.asin_1<—)— a2—a:2—|—c
a
T
D.asin_1<—)— a2—:1:3+c
a

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_GmEhe6RVxCIU
https://dl.doubtnut.com/l/_vuxM4HdARf6W

1
51. Evaluate : /— log zdzx
)

Answer: B

° Watch Video Solution

1
52.Eva|uate:/cos_1(5)da:

° Watch Video Solution



https://dl.doubtnut.com/l/_xETKeN5dzAGl
https://dl.doubtnut.com/l/_EpBRLOwxPjAA

el/x

53. Evaluate : / dx

wg

° Watch Video Solution

54, Evaluate /sec?’ zdx.

o Watch Video Solution

55. Evaluate:/c sin® x dx

o Watch Video Solution

56. Evaluate:/ac sin’® x dx

° Watch Video Solution



https://dl.doubtnut.com/l/_MxBiCFGTGxUK
https://dl.doubtnut.com/l/_K4ZfIwJYkp3T
https://dl.doubtnut.com/l/_HOlUMy9AoT9n
https://dl.doubtnut.com/l/_T7Wx0WbrBgJq

57.Eva|uate:/sin_1‘/ T dx
a+x

o Watch Video Solution

58. Evaluate '/929” sin 3zdz.

° Watch Video Solution

59. Evaluate: /sin(log z) dz

° Watch Video Solution

1
60. Evaluate: fzx (loga: + Z) dx

o Watch Video Solution



https://dl.doubtnut.com/l/_TsftqOGhM3YH
https://dl.doubtnut.com/l/_Vda2kv2OsGYs
https://dl.doubtnut.com/l/_6flRgFFukpmE
https://dl.doubtnut.com/l/_H1qoIZgUHiQ4

61. Evaluate : /3”” cos® z(cos z — 3sinz)dz

o Watch Video Solution

T — sinx
62. Evaluate: /—da:
1 —cosx

x
A.—xcot. — + ¢
2
x
B. —x tan. 5 +c

T
C. x cot. §+c

T
D. x tan. §+c

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_H1qoIZgUHiQ4
https://dl.doubtnut.com/l/_l8TiSTI4r8r1
https://dl.doubtnut.com/l/_CkPvfEROzvzk
https://dl.doubtnut.com/l/_QmY68TUzjS0W

1 1
63. Evaluate:/ — > dx
logz  (logx)

o Watch Video Solution

64. Evaluate: /\/9 — 2%dx

o Watch Video Solution

65. Evaluate: /cos x \/4 — sin’z dx

° Watch Video Solution

66. Evaluate: (i) /\/4:1:2 + 9 dz (ii) /\/wz + 2z + 5dx

° Watch Video Solution



https://dl.doubtnut.com/l/_QmY68TUzjS0W
https://dl.doubtnut.com/l/_5uq6PU0gxyzQ
https://dl.doubtnut.com/l/_niolwoTGMEUb
https://dl.doubtnut.com/l/_jIkZx6xvEnIM

67. Evaluate : /seca:tana:\/élsec2 x — ldx

° Watch Video Solution

68. Evaluate :/
4 — g2

1

dx

° Watch Video Solution

69. Evaluate :/
(14 cosz)(2 + 3cosz)

A log

B. log

C.log

D. log

sin

2+ cosx

2+ 3cosx

1+ cosz

4+ 3cosx

1+ cosx

2+ 3cosx

1+ 2cosx

2+ 3cosx

+c

dx



https://dl.doubtnut.com/l/_5AmDURMVGmQr
https://dl.doubtnut.com/l/_XixusvfuxYfY
https://dl.doubtnut.com/l/_KYaCWG5GBJtL

Answer: C

o Watch Video Solution

2x
70. Evaluate: / dx
(2 +1)(z2 + 2)

o Watch Video Solution

2
71. Evaluate:/ ztz+3 dx
(r —2)(z +1)

A.x + 3log(z — 2) — log(z + 1) + ¢
B.z + 3log(z — 2) —log(8z + 1) + ¢
C.xz + 3log(7x — 2) —log(z + 1) + ¢

D.z + 3log(z — 2) —log(x +3) + ¢


https://dl.doubtnut.com/l/_KYaCWG5GBJtL
https://dl.doubtnut.com/l/_tTACcCEbQECj
https://dl.doubtnut.com/l/_Nh2SUeUJDyj1

Answer: A

o Watch Video Solution

72. Evaluate : /

A. —log

@

)

—_

Q
03

O
o= o~ o= oK

Answer: B

T
d

(2 — 1)(x2 + 2) v
S5z — 1 2

v ‘ \/_tan_l.i—l—(;’
—1 2
v ‘ \/_tan_l.i—l—C
T +1 3 V2

—1 2

ol V2 E Lo
Tx +1 3 V2
2¢ — 1 2

’ +\/_1:an_1.—m +C
T+ 1 3 \/i

° Watch Video Solution



https://dl.doubtnut.com/l/_Nh2SUeUJDyj1
https://dl.doubtnut.com/l/_epLXA5a30M1W

Z

73. Evaluate : d
valuate /(:C_Z)(x_]_) X

° Watch Video Solution

2
1
74. Evlauate : /%dw
(x —1)

° Watch Video Solution

rz—1
75. Evlauate : dzx
/(a: + 1) (22 + 1)

1
A —loglx + 1] + Elog'5a:2 +1| +¢
1 2
B. —log|3z + 1| + 510g|w +1]+c
! 2
C. —loglx + 1] + Elog'x +1+c

1
D.log|z + 1| + Elog‘w2 +1]+c


https://dl.doubtnut.com/l/_U3ZHbaaJOr4u
https://dl.doubtnut.com/l/_1rQPSIxOyjhj
https://dl.doubtnut.com/l/_gwhZ9zT4htLQ

Answer: C

° Watch Video Solution

76. Evlauate
1

1+ logz?
/ 2 1+loga®|
T [6(10g:13) + Tlogx + 2]

2 + logz®

dxr = log

o Watch Video Solution

1
77. Evaluate / dzx
1+ 23

° Watch Video Solution

1
78. Evaluate: / dzx
222 +x — 1


https://dl.doubtnut.com/l/_gwhZ9zT4htLQ
https://dl.doubtnut.com/l/_q8MFLxtYCBZQ
https://dl.doubtnut.com/l/_GNRdT5vRRyyx
https://dl.doubtnut.com/l/_KPkaRTW3n2YN

A llog 2z — 1
3 2z + 2
B. llog 2z — 1
3 z+1
C. L1og| 22— 1
3 2z + 2
D. llog 5z — 2
3 2z + 2
Answer: A

+c

° Watch Video Solution

1

79. Evaluate: /

A.

B.

N
N N L Y i )

2

D.

2

tan ! 22 + 3
2

(233 +1
log

A2 +4x + 5

tan1<2w +1

)+e
)+e

)+

tan—1 2¢ + 1
2

)+



https://dl.doubtnut.com/l/_KPkaRTW3n2YN
https://dl.doubtnut.com/l/_63ituMtMIeKh

Answer: D

o Watch Video Solution

3 1
80. Evaluate:/ T dx
222 — 2z + 3
3 5 2z — 1
A —10g]2x2 —2w+3' + itanl( ’ ) +c
4 2 NG
3 5 2¢ — 1
B. —log|5x2 — 2x + 3' + itan_1 ’ +c
4 2 NG
3 5 2z — 1
C. —log‘Zac2 — 2z + 7' + ita,n_1 ® +c
4 2 NG
2¢ — 1
D. — Elog‘2w2 — 2z + 3| + ﬁta,n_1 2 +c
4 2 V5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_63ituMtMIeKh
https://dl.doubtnut.com/l/_pkFoybuB2jz2

1
81. Evaluate :/ dx
Vi@ 1?43

o Watch Video Solution

2 1
82. Evaluate : / Tt dx
V23 +z —3

o Watch Video Solution

8. /\/2w2 — 5z — ldz

o Watch Video Solution

1
84. Evaluate : /—da:

1+ cos?zx

o Watch Video Solution



https://dl.doubtnut.com/l/_Rm9uCLZJOkAq
https://dl.doubtnut.com/l/_yMMZ4lOSGjLL
https://dl.doubtnut.com/l/_YQImq7yw9OPw
https://dl.doubtnut.com/l/_2Uo9upZIWhy1

1
85. Evaluate: / dx

a?sin?z + b2 cos?

o Watch Video Solution

1
86. Evaluate : /—
5+ 4cosx

° Watch Video Solution

1
87.Evaluate : /—_dm
4 + 5sinx

o Watch Video Solution

2
1
88. Evaluate: / 2+ dzx
x4+ 2241

| ° wAr_a_L vl e~_ .. _


https://dl.doubtnut.com/l/_2Uo9upZIWhy1
https://dl.doubtnut.com/l/_a8gk7IftjB8u
https://dl.doubtnut.com/l/_pbHrkWIjO5HK
https://dl.doubtnut.com/l/_kD7ma1IqqscB
https://dl.doubtnut.com/l/_PwAFLcdirfGb

—  ¥vdllll VIUCO o0I1ULIVII

dx

89. Evaluate:/
x4+ 1

° Watch Video Solution

90. Evaluate: /,/tan xdx

o Watch Video Solution

w/4
91. Evaluate : / tanx. seczdzx
0

o Watch Video Solution

w/4
92. Evaluate : / tan® zdzx
0



https://dl.doubtnut.com/l/_PwAFLcdirfGb
https://dl.doubtnut.com/l/_SNUKUflAtfo7
https://dl.doubtnut.com/l/_dkhHZW9gUU1b
https://dl.doubtnut.com/l/_MRjFOw0tDrD4
https://dl.doubtnut.com/l/_oYylkLDaEpwO

° Watch Video Solution

93. Evaluate :

a 1
—dx
/0 Va2 — x?

o Watch Video Solution

|
94.Eva|uate:/ —dzx
1 Vz

o Watch Video Solution

w/2
95, Evaluate : / sinxzdx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_oYylkLDaEpwO
https://dl.doubtnut.com/l/_T4p5o68Ygw7U
https://dl.doubtnut.com/l/_KOS3VMM1xq4x
https://dl.doubtnut.com/l/_ABpNJhee81Ej

dx

a
96.Eva|uate:/ S
0 x2+ a?

o Watch Video Solution

w/4 m/4
97. Evaluate: / \/1 + sin2zdzx (ii) / \/1 — sin2zxdx
0 0

o Watch Video Solution

2
98./ V6T + 4dz
0

o Watch Video Solution

/4
99, Evaluate : / sin 2z sin 3xdx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_btsg2uODMUzT
https://dl.doubtnut.com/l/_VxidQZCfWKfl
https://dl.doubtnut.com/l/_4HQRq7KPrxXF
https://dl.doubtnut.com/l/_dVeIhZYFOTvB

100. Evaluate :

/4 dz
0 Vzz+2zx+3

o Watch Video Solution

z? +x

4
101. Evaluate the following definite integral: / —dz
1

V2z + 1

° Watch Video Solution

4
102. Evaluate:/ x. e*dx
0

° Watch Video Solution

w/2
103. Evaluate : / sin® cdz
0

f


https://dl.doubtnut.com/l/_dVeIhZYFOTvB
https://dl.doubtnut.com/l/_64Kkj1sefFvZ
https://dl.doubtnut.com/l/_ZFO8NTH8gNto
https://dl.doubtnut.com/l/_oRAB9eXUjN7U
https://dl.doubtnut.com/l/_2c15N5sOWRnO

l o Watch Video Solution

104. Evaluate :

2
/ dx
1 xvxr -1

o Watch Video Solution

2

cos(logx

105.Eva|uate:/ %dw
1

° Watch Video Solution

w/6
106. Evaluate : / cosT
0

3+ 4sinx v

o Watch Video Solution



https://dl.doubtnut.com/l/_2c15N5sOWRnO
https://dl.doubtnut.com/l/_cAGcSVuAE7M0
https://dl.doubtnut.com/l/_QvpJvWvHfWGA
https://dl.doubtnut.com/l/_ID0uPvU18bGt

107. Evaluate :

[ =
—dx
0 14+ 22

° Watch Video Solution

w/2
108. Evaluate : / sin® z cos zdx
0

o Watch Video Solution

$2

1—|—m6dw

1
109. Evaluate : /
0

o Watch Video Solution

1 1

sin” * sx

—dx
0 vV1— z2

110. Evaluate :

o View Text Solution



https://dl.doubtnut.com/l/_7xluZ90Ve5mq
https://dl.doubtnut.com/l/_ji9ircr0yQ2e
https://dl.doubtnut.com/l/_3WZDYUDw2Fd0
https://dl.doubtnut.com/l/_XM8y5lTQHczS

1 (tan_1 :c)2
111. Evaluate : / ——dzx
0 14 22

° Watch Video Solution

T2 cosx
112. Evaluate :/ —dz
0

1+ sin® x

° Watch Video Solution

2%

Z

1
113. Evaluate : / dz
0

o Watch Video Solution

xtan 1z

1
114. Evaluate:/ 3/2dw
0 (1+a?)



https://dl.doubtnut.com/l/_XM8y5lTQHczS
https://dl.doubtnut.com/l/_AYJjvq5jcs4s
https://dl.doubtnut.com/l/_tebDzXxBQYVz
https://dl.doubtnut.com/l/_Xmx2lVJ88YQh
https://dl.doubtnut.com/l/_T00Oyvt0KvIv

o Watch Video Solution

1

9
115.Eva|uate:/ ——dx
0o 1++z

o Watch Video Solution

1
116. Evaluate : / cos ! ecdzx
0

° Watch Video Solution

w/2
117. Evaluate :/ _ 8T - dx
o (14 sinz)(2+ sinz)

o Watch Video Solution



https://dl.doubtnut.com/l/_T00Oyvt0KvIv
https://dl.doubtnut.com/l/_lotqClQPJYov
https://dl.doubtnut.com/l/_aaC0dmNVDakq
https://dl.doubtnut.com/l/_hyobkQhlTN6q

w/2 1
118. Evaluate: / dx
o

. 2
a? cos? z + b2 sin? w)

o Watch Video Solution

w/2 :
119. Prove that:/ S ddx = %
0

sinx + cosx

o Watch Video Solution

7T/2 1
120. Prove that: / _ =
0

1+ tan’

NI

o Watch Video Solution

w/2
121. Prove:/ logltanz| dz = 0
0

| ° Watch Video Solution


https://dl.doubtnut.com/l/_1bPMjO7nAWaq
https://dl.doubtnut.com/l/_LZOkmjbe1UC4
https://dl.doubtnut.com/l/_PgyNXZHnYBWM
https://dl.doubtnut.com/l/_tx8jiEOwOtq5

3a/4
122./ Ve de = 2
a/4 \/a,—ZE-F\/E 4

° Watch Video Solution

123. Prove that: / w3\/a2 —z%dz =0

o Watch Video Solution

a 2 o
124. Prove that: / 10g< 5T z )d:c =0

o View Text Solution

o T T
125. Prove that: / > dr = —
o (1+z)(1+x) 4



https://dl.doubtnut.com/l/_tx8jiEOwOtq5
https://dl.doubtnut.com/l/_asq7N3ZI0qrK
https://dl.doubtnut.com/l/_UukLFW3OHXng
https://dl.doubtnut.com/l/_LVk7axfU6Ji0
https://dl.doubtnut.com/l/_RIH9bI8SGghp

o Watch Video Solution

126. Prove that:

w/2 w/2 -
/ log(sinz)dz = / log(cos z)dx = Tlog2
0 0

o Watch Video Solution

sin?

3
127. Evaluate:/
g SE€ExT+coszx

° Watch Video Solution

1 0
128. Evaluate: /|5x—3|d:c (ii) /|cosx|d:c (iii)

5
/ |z — 2|dz (iv) / el®lde ( /’m —|—2m—3'dm (v)

4
/(|:L’—1|—|—\a:—2|—|—|a:—3|)da: VI/ 'a: —a:|d:c
1

[ - 1


https://dl.doubtnut.com/l/_RIH9bI8SGghp
https://dl.doubtnut.com/l/_rIRwKcNrOc41
https://dl.doubtnut.com/l/_XiArL3VUHnJK
https://dl.doubtnut.com/l/_nIAw7914Cd20

| @9 Watch Video Solution

™
129. Evaluate:/ |cos z|dz
0

o Watch Video Solution

w/8
130. Prove that / log|1l 4 tan2z| dz = 17T—610ge 2.
0

o Watch Video Solution

b
131. Evaluate / z2dz as limit of the sum.
a

° Watch Video Solution



https://dl.doubtnut.com/l/_nIAw7914Cd20
https://dl.doubtnut.com/l/_trWhE9QIGLYD
https://dl.doubtnut.com/l/_sOtxPT15kOim
https://dl.doubtnut.com/l/_7irUPFFncZwl

b
132. Evaluate: / e”dx using limit of sum
a

° Watch Video Solution

2

133. Evaluate : / e*dzx as a limit of sum.
-1

o Watch Video Solution

Exercise 7a



https://dl.doubtnut.com/l/_50ignFv0o86e
https://dl.doubtnut.com/l/_ii75RTqc0zZ7
https://dl.doubtnut.com/l/_re5MWfbcbunM

Answer: A

o Watch Video Solution

2.%1;8 dx

° Watch Video Solution

3./3;—6 dx

o Watch Video Solution



https://dl.doubtnut.com/l/_re5MWfbcbunM
https://dl.doubtnut.com/l/_RFnLXOksIp0f
https://dl.doubtnut.com/l/_cE4gcSwtZUCB

1
4./ dx
z\/T
1
A — (5):1:_1/2 +c

B.—2z /2 +¢
C—1lz Y2 4¢

1
D.——.a:_l/z—l—c

Answer: B

o Watch Video Solution

1
5. [—dx

e

o Watch Video Solution



https://dl.doubtnut.com/l/_dGNDDCg7YqtO
https://dl.doubtnut.com/l/_sZOrRvAWthJp

6./z_1/3 dz

o Watch Video Solution

7. [2° dx

° Watch Video Solution

8. ﬁ)"‘”“ dx

° Watch Video Solution

o.

1
.
iy

° Watch Video Solution



https://dl.doubtnut.com/l/_nndwg6eo0PIq
https://dl.doubtnut.com/l/_6rDDKEakwEBH
https://dl.doubtnut.com/l/_egaGQ9wP0tws
https://dl.doubtnut.com/l/_1UbnmZo5pK9B

dt

1
0. [
tvit?2 — 1

o Watch Video Solution

11./sec2 z dz

o Watch Video Solution

1
cos . cot x

o Watch Video Solution

1
B [—do
4—.’1)

° Watch Video Solution



https://dl.doubtnut.com/l/_1UbnmZo5pK9B
https://dl.doubtnut.com/l/_ONHPFUlr4DIO
https://dl.doubtnut.com/l/_ijMRfdQl5ajT
https://dl.doubtnut.com/l/_YzpTqaDkVcL1
https://dl.doubtnut.com/l/_VKBbrdF3qcqe

1
14. /T dz
e X

° Watch Video Solution

Exercise 7b
6 1 x
1. — — 4+ e+ 3)dx
T

° Watch Video Solution

2. /(ax2 + bz + c)dz

o Watch Video Solution



https://dl.doubtnut.com/l/_VKBbrdF3qcqe
https://dl.doubtnut.com/l/_aPPttlvRUif5
https://dl.doubtnut.com/l/_9DzeIUSKXhk9
https://dl.doubtnut.com/l/_9X8zW002m79U
https://dl.doubtnut.com/l/_HvVLrWRm5cAV

3./(3x — 2)3dx

o Watch Video Solution

4.ﬁa,n2 x dx

o Watch Video Solution

3xr — 2
5/( < —I—e‘”)da:
x

o Watch Video Solution

1
6. /—,da:
1 —sinx

o Watch Video Solution



https://dl.doubtnut.com/l/_HvVLrWRm5cAV
https://dl.doubtnut.com/l/_L1GEQeSUfrny
https://dl.doubtnut.com/l/_X5UJObQxYqdl
https://dl.doubtnut.com/l/_LSAfU01qqXpH
https://dl.doubtnut.com/l/_mUs47KwgqsZl

secr — tanx
7/ dx

" [secx + tanzx

o Watch Video Solution

2
8./ < dx
1+ 22

° Watch Video Solution

o, /,/1 + sin2zdzx

° Watch Video Solution

1
10. Evaluate: [————dx
1+ costx

o Watch Video Solution



https://dl.doubtnut.com/l/_mUs47KwgqsZl
https://dl.doubtnut.com/l/_TDB2Cwj9gezX
https://dl.doubtnut.com/l/_QmKvmR7ymGFy
https://dl.doubtnut.com/l/_TmehbUcGhwRn

2
3
11./38 0 e
x2 +1

o Watch Video Solution

12./ v dz
T+ a

° Watch Video Solution

2
2y _
13. T TeT 5d:13

T

o Watch Video Solution

14. /(ta,nx + cosz)’dx

o Watch Video Solution



https://dl.doubtnut.com/l/_KNIlT3ZEE3PU
https://dl.doubtnut.com/l/_ZQULg1CCvv6B
https://dl.doubtnut.com/l/_Cq7NKCeLAhIu
https://dl.doubtnut.com/l/_xiSqzq5tjqii

1
15, [——
5/1—|—cos2mdx

o Watch Video Solution

1
1 — cos2zx

o Watch Video Solution

17. /,/1 + cos 2zdzx

° Watch Video Solution

18. /\/1 — cos 2zdzx

o Watch Video Solution



https://dl.doubtnut.com/l/_xiSqzq5tjqii
https://dl.doubtnut.com/l/_M5MqdAUHV9ku
https://dl.doubtnut.com/l/_CLMFr1pxBP9h
https://dl.doubtnut.com/l/_isMkcEqkB5Hr
https://dl.doubtnut.com/l/_GkL8ncAME5VL

— 3cosx
19. -de:c
sin“ ¢

° Watch Video Solution

20./1 + cos 2z da
1 — cos2z

o Watch Video Solution

3 : 3 2
21, (i)/cos x + sin T (zz)/ cos2r .
¢

sin z. cos2 0s2 z sin’

° Watch Video Solution



https://dl.doubtnut.com/l/_GkL8ncAME5VL
https://dl.doubtnut.com/l/_jXX9nLwtN8t6
https://dl.doubtnut.com/l/_c4BSXbhgfrEd
https://dl.doubtnut.com/l/_QysG8iQBc2Yu
https://dl.doubtnut.com/l/_ST441SVTKgAy

[ W Watch Video Solution

23. /e“?’dx

o Watch Video Solution

sinx
24. /—,dw
1+ sinx

o Watch Video Solution

3
25. (4) 1+—\/;)da: (44) /(1 te)

o Watch Video Solution

26./1_xd9c
z


https://dl.doubtnut.com/l/_ST441SVTKgAy
https://dl.doubtnut.com/l/_mac0VijJkpdJ
https://dl.doubtnut.com/l/_5qb8CV7pnxnt
https://dl.doubtnut.com/l/_h3uNW9XkBp6A
https://dl.doubtnut.com/l/_C0sOvL7JnIh9

o Watch Video Solution

Exercise 7¢

1. Evaluate: /(aa: + b)’da

° Watch Video Solution

2./(3 — 7z)°da

° Watch Video Solution

3. /\/233 — 1dz

o Watch Video Solution



https://dl.doubtnut.com/l/_C0sOvL7JnIh9
https://dl.doubtnut.com/l/_akCorVZUiVFt
https://dl.doubtnut.com/l/_FX47tshOLeSq
https://dl.doubtnut.com/l/_wTsCkCkcOHwc

1
e
(a + bx)

° Watch Video Solution

1
5./ 2$+ gdw

o Watch Video Solution

6. /—(7:6 i 2)2 dz

o Watch Video Solution

7.(i)/5wl+1dw (z’i)/ w+1+ﬁdm

° Watch Video Solution



https://dl.doubtnut.com/l/_v0FTBa2UHrns
https://dl.doubtnut.com/l/_jD0zZau66ale
https://dl.doubtnut.com/l/_PTeT6JvvfEL4
https://dl.doubtnut.com/l/_udg4NMRHeirE

8.

1
—  dx
w2
\/5—-7

° Watch Video Solution

1
9./ zdw
3+ (2— 3x)

o Watch Video Solution

10. /cos(Zw + 1)dz

° Watch Video Solution

1. /sec2(1 — 5z)dx

f


https://dl.doubtnut.com/l/_udg4NMRHeirE
https://dl.doubtnut.com/l/_DDOlgOd3xWX9
https://dl.doubtnut.com/l/_3mf0qf6PwB0J
https://dl.doubtnut.com/l/_h154tObd2Ep4
https://dl.doubtnut.com/l/_egn3TxWNq7UD

o Watch Video Solution

12. Evaluate /cos3 zdx.

° Watch Video Solution

13. /cos 4x. cos 2xdx

o Watch Video Solution

14. (z')/sin 2z. cos bxdx (z'z')/sm do dz

sinx

° Watch Video Solution

15. /\/1 + sinzdx =


https://dl.doubtnut.com/l/_egn3TxWNq7UD
https://dl.doubtnut.com/l/_HN1vhWNHp50b
https://dl.doubtnut.com/l/_s2Rj20fBx6NG
https://dl.doubtnut.com/l/_8DtSHRcrpLxX
https://dl.doubtnut.com/l/_pYCITtES2too

o Watch Video Solution

/\/ -+ sin. —da:

(i )/C1+cos4x da

otx — tanx

° Watch Video Solution

17. /92“’+5da:

o Watch Video Solution

18. /94—3%:

o Watch Video Solution



https://dl.doubtnut.com/l/_pYCITtES2too
https://dl.doubtnut.com/l/_vGpngOPglmsj
https://dl.doubtnut.com/l/_qRTN05pgAi1j
https://dl.doubtnut.com/l/_2mrbju2JGhcZ
https://dl.doubtnut.com/l/_YizkECrUUPgC

2
19. Evaluate: fﬂ dx
z2(1+ x)

o Watch Video Solution

20. ﬁ5a‘” + 6a cos(bz + 1) }dx

° Watch Video Solution

/ ldz
21.
(z —2)vz?2 — 4z + 3

° Watch Video Solution

1
22, / dzx

\/1— (3z + 2)°

o Watch Video Solution



https://dl.doubtnut.com/l/_YizkECrUUPgC
https://dl.doubtnut.com/l/_vGxw5zZMs2n5
https://dl.doubtnut.com/l/_Ncf7CqOBSrGl
https://dl.doubtnut.com/l/_Pp4d1CwNl45L

1 4
23.0f f'(x) = s z? and f(1) = 3 then find the value of

f(z)

o Watch Video Solution

1. /cos3 . sinzdx

° Watch Video Solution

2. ﬁ:2. sinz3dz

o Watch Video Solution



https://dl.doubtnut.com/l/_MqPyL2pmAX0b
https://dl.doubtnut.com/l/_GxfRgssQ0Am7
https://dl.doubtnut.com/l/_Yq064bbVQBrn
https://dl.doubtnut.com/l/_3Df33FCTajg9

3. /cos ec’r. v/eotdx

o Watch Video Solution

4, /cot3 x. cos ec’zdr

° Watch Video Solution

2
5./ v dx
14 26

o Watch Video Solution

log 2)°
6./(g;)dw
T

o Watch Video Solution



https://dl.doubtnut.com/l/_3Df33FCTajg9
https://dl.doubtnut.com/l/_20k8QiK1srHw
https://dl.doubtnut.com/l/_GPwLE1OHl6In
https://dl.doubtnut.com/l/_juW3feptZKe3
https://dl.doubtnut.com/l/_yYZ3GmCtWPck

22
7. /—dw
V14 g3

° Watch Video Solution

8. /sec z. log(secx + tanz)dz

o Watch Video Solution

x
0. /—dac
V14 2

o Watch Video Solution

2
10. /w—da:
1 — 223

o Watch Video Solution



https://dl.doubtnut.com/l/_yYZ3GmCtWPck
https://dl.doubtnut.com/l/_8l22uhvyKKVH
https://dl.doubtnut.com/l/_PTEDGbFTMbHc
https://dl.doubtnut.com/l/_EZjxrKfdVPc1

1. x

_ T 4
V1+ z?

o Watch Video Solution

12. /w2. tan® z3. sec® 23dx

o Watch Video Solution

T
13. /—dw
vV1+ x4

o Watch Video Solution

14. /:IZ cos® z2. sin z2dzx

° Watch Video Solution



https://dl.doubtnut.com/l/_EZjxrKfdVPc1
https://dl.doubtnut.com/l/_9bG3Q0AcQLU7
https://dl.doubtnut.com/l/_EsPmhmve6Fho
https://dl.doubtnut.com/l/_CM0jFoBDqxEY
https://dl.doubtnut.com/l/_Mj5BWpzv0449

3
15. /w—zda:
(4 — z4)

o Watch Video Solution

1
16. dx
/ac cos?(log, x)

o Watch Video Solution

i
Z

cos2(log.
17./ (log. z) ,

° Watch Video Solution



https://dl.doubtnut.com/l/_Mj5BWpzv0449
https://dl.doubtnut.com/l/_1sd0c0Fd5FhM
https://dl.doubtnut.com/l/_4kwdk8ix3Rok
https://dl.doubtnut.com/l/_Sn6uyXVoLyPO

(1 log x. sin[l + (log :1:)2}

dx
T

g dz
(m)/m(l + log)"

° Watch Video Solution

1
19./ 5 dz
cos?z(1 — tanz)

° Watch Video Solution

20’/ x dx
(14 22)%/2

° Watch Video Solution

. 2 3
21. Evaluate: (i) /ﬂ dx (ii) / z dx
1+ cos?z 4+ x8


https://dl.doubtnut.com/l/_w9PCjkgmkk5H
https://dl.doubtnut.com/l/_eqwAZbFakiJc
https://dl.doubtnut.com/l/_WXyXt2O9NPPS
https://dl.doubtnut.com/l/_EPRNSmI1psgO

° Watch Video Solution

Ve cos(ev® 5
22. Evaluate: (i)/e \/E ) dx (ii) /C(?S v dx
x sinzx

o Watch Video Solution

23. /e””. (a + be®)"dx

° Watch Video Solution

tan ! 1
24. (1) [———d= (zz)/ dzx
(14 x2) V1—z2sin 'z

o Watch Video Solution



https://dl.doubtnut.com/l/_EPRNSmI1psgO
https://dl.doubtnut.com/l/_NZGdC323R9HR
https://dl.doubtnut.com/l/_igzWjLPQakGc
https://dl.doubtnut.com/l/_pkng379X6kwN

sinx. cos T
25. / dx
a

2cosz + b2sin’ x

o Watch Video Solution

26. /cosz zdx

o Watch Video Solution

27. /sin2 nxdx

° Watch Video Solution

28. /sin5 rdr

° Watch Video Solution



https://dl.doubtnut.com/l/_uAUsBUVdbln6
https://dl.doubtnut.com/l/_OrujXK3DG5ip
https://dl.doubtnut.com/l/_o09HVq8ZkA24
https://dl.doubtnut.com/l/_U33vmQKGo6h5

dx

(a + bsin_lm)n
29./
V1 — z2

° Watch Video Solution

30. / cosec*2zdzx

o Watch Video Solution

31. /sec4 zdx

o Watch Video Solution

32. /sin2/ 3 2 cos® zdzx

° Watch Video Solution



https://dl.doubtnut.com/l/_gHB24OKYSRFa
https://dl.doubtnut.com/l/_1ljMCnKafB4d
https://dl.doubtnut.com/l/_fXRFMNqGOVwT
https://dl.doubtnut.com/l/_gGcQUBUR9pTv

33. /cos 2x. cos 4x. cos 6xdzx

o Watch Video Solution

2z — 1
34. —— dx
Va2 —z—1

o Watch Video Solution

35. / cos? 2x dx

° Watch Video Solution

36. EVALUATE / cos®(3z + 5)dz

° Watch Video Solution



https://dl.doubtnut.com/l/_gGcQUBUR9pTv
https://dl.doubtnut.com/l/_yzbiLtp3KyH0
https://dl.doubtnut.com/l/_M9YOWeOesH3z
https://dl.doubtnut.com/l/_c4CpTqEQGYqp
https://dl.doubtnut.com/l/_tOzNjRWQAJwG

1 (1 .. 4
37.Evaluate: (i) [—cos“| — | dz (ii) [sec® xtanz dz

x2 x

o Watch Video Solution

3
38. /L:de
(@ + 1)

o Watch Video Solution

Exercise 7e

1. (3) / 1 fem dz (i) /ﬁdx

o Watch Video Solution



https://dl.doubtnut.com/l/_tOzNjRWQAJwG
https://dl.doubtnut.com/l/_e9VwcBXUt5Zi
https://dl.doubtnut.com/l/_MM93XSKzrd8p
https://dl.doubtnut.com/l/_1CB2Kz840EWz
https://dl.doubtnut.com/l/_a0sZRQ5pjR3E

5 / cot
" Jlog(sinz)dx

o Watch Video Solution

sinx
3. /—dx
a -+ bcoszx

o Watch Video Solution

2
a. /—d
(a8 + 4)

o Watch Video Solution

e’(1+z
| e,
sin“(ze®)

o View Text Solution



https://dl.doubtnut.com/l/_a0sZRQ5pjR3E
https://dl.doubtnut.com/l/_1koCzXh8Dr5D
https://dl.doubtnut.com/l/_A55BMJwBhq4C
https://dl.doubtnut.com/l/_4qChVLiwRpQV

6./sec2:1: da
vtanz

° Watch Video Solution

-1

1 tan” 'z
7. (i) / de  (4) /e da
(1+ z?)tan 'z 1+ 2

o Watch Video Solution

e’ +sinx

&/e +cosa:dx

° Watch Video Solution

9.(j) [2ET T COBEET 4 i) /ca,n4x dz

logcot x

| n"' - n o~ 1 e


https://dl.doubtnut.com/l/_4qChVLiwRpQV
https://dl.doubtnut.com/l/_4wTYeQOJxynX
https://dl.doubtnut.com/l/_H47RdFby5UUf
https://dl.doubtnut.com/l/_KbK0aAGWWx4G
https://dl.doubtnut.com/l/_nOpe5Iaksrjs

|  VICW ICXL S01UtLion

cotx
10. /—,da:
1+ sinz

o Watch Video Solution

sinz
11. Evaluate: /— dz
sin(z — a)

o Watch Video Solution

12. EvaIuate:/ a dzx
b+ ce®

o Watch Video Solution



https://dl.doubtnut.com/l/_nOpe5Iaksrjs
https://dl.doubtnut.com/l/_GzhKz09VxsE3
https://dl.doubtnut.com/l/_ULcbKAMu7HBR
https://dl.doubtnut.com/l/_wjRNcmncOi8n

dx

1
1. (7;)/
vV1—1z2.cos 1z
(”)/'sin(tan_1 x) p
it x
1+ x2

° Watch Video Solution

sin 2x
14. /—da:
5 — cos?

° Watch Video Solution

_ ; 1
1. (i)/cosaz azsmwda3 (zz)/( +cosx3d$

T CoST x + sinz)

o Watch Video Solution



https://dl.doubtnut.com/l/_SUNxHwwvJJzv
https://dl.doubtnut.com/l/_9J5YnQUPkRvJ
https://dl.doubtnut.com/l/_VTNWrDWamj5E
https://dl.doubtnut.com/l/_nm0poLAxJDN6

l @9 Watch Video Solution I

1+1
L [t lose),

o Watch Video Solution

1
2./ dzx
v/1 4+ cos2x

° Watch Video Solution

1
3. (i)/sec7 z.sinzdx (zz)/ dx
S

inx. cos? x

o Watch Video Solution



https://dl.doubtnut.com/l/_nm0poLAxJDN6
https://dl.doubtnut.com/l/_hkosKH4ffbvM
https://dl.doubtnut.com/l/_yi8jiMPx2VNY
https://dl.doubtnut.com/l/_iG6jCfyvBEhC

1
4. Evaluate: dx
/cos(ac — a)cos(z — b)

o Watch Video Solution

1
5. Evaluate: /— dx
VAar? — 9

o Watch Video Solution

1
6. /—dw
vz -9

° Watch Video Solution

1
7',/5—|—élcosar:da3

o Watch Video Solution



https://dl.doubtnut.com/l/_heIu0860SCQm
https://dl.doubtnut.com/l/_EmWRi8TfdbIw
https://dl.doubtnut.com/l/_2caHG1jKCSlA
https://dl.doubtnut.com/l/_HQSEoJe8rnnE

1

8. Evaluate: / dr
sin(z — a)sin(z — b)

o Watch Video Solution

1
9./ dzx
422 + 9

o Watch Video Solution

2
10./“7 dz
4 + x2

o Watch Video Solution

1
11. Evaluate: /— dx
Vaz? — 9

I o Watch Video Solution


https://dl.doubtnut.com/l/_HQSEoJe8rnnE
https://dl.doubtnut.com/l/_i78nG19w5NN1
https://dl.doubtnut.com/l/_i82HNs34L03F
https://dl.doubtnut.com/l/_EHpRr5Bw12B0
https://dl.doubtnut.com/l/_hzusgbMVnIyp

1
12. /—daz
Vor?2 —1

° Watch Video Solution

13. Evaluate: (i)

T 2
_©  dz /"’"— dz
Va4 — e V1 — 26

o Watch Video Solution

1
14. Evaluate: /— dx
e +e 7

o Watch Video Solution

1
15./ Tt dzx
r—1



https://dl.doubtnut.com/l/_hzusgbMVnIyp
https://dl.doubtnut.com/l/_7GSGD7j4kV2p
https://dl.doubtnut.com/l/_wiIix2wCbhhz
https://dl.doubtnut.com/l/_pX1WpSRqgRV9
https://dl.doubtnut.com/l/_p28PEeQwgCpl

I o Watch Video Solution

1
16./ -dz

° Watch Video Solution

1
17. Evaluate /—,dw.
1+ sinx

° Watch Video Solution

: 2
8.(1) [——r _dz  (id) /“’“—dm
V4 + cos? V9 + z6

o Watch Video Solution



https://dl.doubtnut.com/l/_p28PEeQwgCpl
https://dl.doubtnut.com/l/_vGVhyRhvNqUJ
https://dl.doubtnut.com/l/_k9FYeCQqpPd4
https://dl.doubtnut.com/l/_BwqEEdoKDm6K

19.(1) [—255% g (id) /m2—+1

V1 —4cos?z

z+1

dx

° Watch Video Solution

20. Evaluate: (

/\/1 + cos Zw

x (ii)

——dzx
v/1—cosx

o Watch Video Solution

21. /sec /5 2. cosect/ P xdx

° View Text Solution

2
22. /x—2da:
(a + bx)

o Watch Video Solution



https://dl.doubtnut.com/l/_y1FeamLmWMKV
https://dl.doubtnut.com/l/_t0EBME1JUV0W
https://dl.doubtnut.com/l/_itrv4p5qbj4r
https://dl.doubtnut.com/l/_nkoAiyRMuHsy

2
23./"” 1 e
(z+1)

o Watch Video Solution

24. /\/1 + 2tanz(tanz + secx)dx

° View Text Solution

1./loge x dx

o Watch Video Solution



https://dl.doubtnut.com/l/_nkoAiyRMuHsy
https://dl.doubtnut.com/l/_F8WLWaY1ZZ5M
https://dl.doubtnut.com/l/_Pz1n6s2yq8KR
https://dl.doubtnut.com/l/_je2iynVkNk2J

2. Evaluate : /:c" log xdz.

o Watch Video Solution

3. fc a“dzx

o Watch Video Solution

4./xsec2 x dx

° Watch Video Solution

5. Evaluate: fn log(1 + z) dz

o Watch Video Solution



https://dl.doubtnut.com/l/_Ru5DSIgM2rVo
https://dl.doubtnut.com/l/_Cu9MyoubK6jD
https://dl.doubtnut.com/l/_3KTh3LYurHqr
https://dl.doubtnut.com/l/_LsxsO8hWiCRd

6./xsec2 x dx

° Watch Video Solution

7./xta,n_1 x dx

o Watch Video Solution

8.  Evaluate: (i) /secw log(secz + tanx) dx

/cos ec x log(cosec z — cot x) dx

(i)

° Watch Video Solution

o, /sin \/Eda:

[ o WMiabl .\t daa ol ikt


https://dl.doubtnut.com/l/_gPC9ghxQ3bEd
https://dl.doubtnut.com/l/_qRxX4HCVu3ry
https://dl.doubtnut.com/l/_l6Bz3FmcWQTu
https://dl.doubtnut.com/l/_lELJoQVvNwmr

L . vvalilll VIUCU JUIULIVII

10. (z)fc2 cos x dx (iz’)fcze?’w dx

o Watch Video Solution

1. (z')/xsec2 2x dx (ii)/xsin?’ x dx

° Watch Video Solution

12. Evaluate /sin_1 xdx.

° Watch Video Solution

13. /cot_lw dx

[ -


https://dl.doubtnut.com/l/_lELJoQVvNwmr
https://dl.doubtnut.com/l/_4KMxRZrNuPoy
https://dl.doubtnut.com/l/_S9xhxl42CsLN
https://dl.doubtnut.com/l/_3fVLpmcVt1nm
https://dl.doubtnut.com/l/_p5sfREroh8wJ

| O Watch Video Solution

14, ﬁ3ew2dw is equal to

° Watch Video Solution

2
15./Sin_1( v )dw
14 2

o Watch Video Solution

1— 2
16. Evaluate: [cos ! dzx
1+ 22

° Watch Video Solution

.3
. /tan(?’_)d
1 — 3x2


https://dl.doubtnut.com/l/_p5sfREroh8wJ
https://dl.doubtnut.com/l/_VVRvGfNlcI2I
https://dl.doubtnut.com/l/_SCcKeKydmQKK
https://dl.doubtnut.com/l/_oeCC8BcnK9Tp
https://dl.doubtnut.com/l/_WWy29l192yQW

o Watch Video Solution

r2tan 1z
18. —dw
1+ x2

° Watch Video Solution

o1
19. /Sm—wsdw
(1)}

o Watch Video Solution

rtan !z

20. Evaluate /—3dw
(1+ 22)>

o Watch Video Solution



https://dl.doubtnut.com/l/_WWy29l192yQW
https://dl.doubtnut.com/l/_Gf8Ftt24AxJM
https://dl.doubtnut.com/l/_0JYFn7rxmqtn
https://dl.doubtnut.com/l/_R2tpe5eHaeYb

21.-/cosec3 x dx

o View Text Solution

22./sec (tan-' x)dx

o View Text Solution

-1
23.Eva|uate:/ rtan @ dzx
(1+22)*?

o Watch Video Solution

24, /93”” cos 2x dx

o View Text Solution



https://dl.doubtnut.com/l/_p3nrekWGjftj
https://dl.doubtnut.com/l/_dGAVvFDiJYUT
https://dl.doubtnut.com/l/_rtvTAU2HSLJY
https://dl.doubtnut.com/l/_ZsJEirqVqYxU

25. Evaluate /92”” sin 3zdz.

° Watch Video Solution

26. /Ldm
(14 sinz)

° Watch Video Solution

27. /e\/zdx

o Watch Video Solution

28. Evaluate /ez"" sin 3zdz.

I o Watch Video Solution


https://dl.doubtnut.com/l/_ZsJEirqVqYxU
https://dl.doubtnut.com/l/_V6UfddPg3FG6
https://dl.doubtnut.com/l/_VE2JoN1l2Pgk
https://dl.doubtnut.com/l/_3fDgQ908DEHP
https://dl.doubtnut.com/l/_ydH8941XXQYa

29./ log sin x . sec’ xdx

o Watch Video Solution

30./6 smx - gin 2x dx

° Watch Video Solution

31./6“". cos® xdx

o View Text Solution



https://dl.doubtnut.com/l/_ydH8941XXQYa
https://dl.doubtnut.com/l/_XLOXh3tUXOIg
https://dl.doubtnut.com/l/_LkzVVK32tf7v
https://dl.doubtnut.com/l/_EVHfv0w2Tbfw
https://dl.doubtnut.com/l/_c4hgxItUhKPq

1. /e‘”. (cot x- cosec” x) dx

o View Text Solution

2. /em. sin x( sin x+ 2 cos x) dx

o View Text Solution

3. (z)/az [log (sec x+tan x) + sec x dx

(ii)/e_“”(cos z — sinx) i

cos? ¢

° Watch Video Solution

4, /em(log sinz + cot z)dx

o Watch Video Solution



https://dl.doubtnut.com/l/_c4hgxItUhKPq
https://dl.doubtnut.com/l/_FXmE3qiibtT0
https://dl.doubtnut.com/l/_NspS2fCb1N7K
https://dl.doubtnut.com/l/_v9saxb0XQA8j

sinxcosx — 1
5. Evaluate: /e”” ( > ) dx

sin“ x

° Watch Video Solution

6. Evaluate: /{s € (logz) + cos(logz)}dx

o Watch Video Solution

. x—sinzwd
"1 " cos2z ¥

o View Text Solution

2
1

8. Evaluate: /e“’w——i_z dx
(z +1)

| &


https://dl.doubtnut.com/l/_v9saxb0XQA8j
https://dl.doubtnut.com/l/_ZjeroQ0tvKRx
https://dl.doubtnut.com/l/_EqvVFvrxMyty
https://dl.doubtnut.com/l/_zz94ACBBiQzj
https://dl.doubtnut.com/l/_6midFk0VqUDH

[ W Watch Video Solution

logx
0. /( 1+ 10g:13)2 )dw

o Watch Video Solution

T — 2
10./ 3 .efdx
T

° View Text Solution

11./62”” (tan x+1)°de

o Watch Video Solution

T + sinx
12. Evaluate: /+— dz
1+ cosx


https://dl.doubtnut.com/l/_6midFk0VqUDH
https://dl.doubtnut.com/l/_zXwXjtzv4oY8
https://dl.doubtnut.com/l/_7ZvjQSNzahm1
https://dl.doubtnut.com/l/_q6wCjTmOXRKV
https://dl.doubtnut.com/l/_9yazMhA6IPQ7

° Watch Video Solution

a0 0=,

Z

- 1+sinz \
(m)/(l—kcosx)e dz

o Watch Video Solution

_ 1 2
14. The value of /etan ‘e <ﬂ>da}
1+ z2

° Watch Video Solution

1
15.Find [|log(logz) + o
(logz)

o Watch Video Solution



https://dl.doubtnut.com/l/_9yazMhA6IPQ7
https://dl.doubtnut.com/l/_YvDTrpChTH86
https://dl.doubtnut.com/l/_7elAmf3d5MRx
https://dl.doubtnut.com/l/_mCzIdGn0LhCh

1. /\/9 — 4z%dx

o Watch Video Solution

2. /x\/x‘* + 9dzx

o Watch Video Solution

3. /secxtanx tan’z — 4dz

o Watch Video Solution

4. Evaluate: /932\/a6 — 2%z



https://dl.doubtnut.com/l/_2f8mrFdoMfbF
https://dl.doubtnut.com/l/_br2M0VsORw1O
https://dl.doubtnut.com/l/_MWWxqote9rvj
https://dl.doubtnut.com/l/_CuijKzU2VFTf

[ o Watch Video Solution

2
5. /f"_“dm
va? 43

o Watch Video Solution

6. ﬁ2\/:1:6 — 1dzx

° Watch Video Solution

7. '/seca:ta,na:\/sec2 z + 1ldzx

o Watch Video Solution



https://dl.doubtnut.com/l/_CuijKzU2VFTf
https://dl.doubtnut.com/l/_otRFUBAoPa6k
https://dl.doubtnut.com/l/_ckSSye9VPb72
https://dl.doubtnut.com/l/_aN0yzzwZTNmE

8. /\/ 2 — 3x%dz

o Watch Video Solution

° Watch Video Solution

1
2. Evaluate: / dzx
22 —x — 1

o Watch Video Solution



https://dl.doubtnut.com/l/_XMQGq6FAOj4L
https://dl.doubtnut.com/l/_TJx1KLLFxXvQ
https://dl.doubtnut.com/l/_Ibir46iFYU1z

3/ 1 4
. x
x — 3

o Watch Video Solution

2r — 3
4. Evaluate :/
x2 4+ 3r — 18

o Watch Video Solution

2
1
5. Evaluate: /zv + dx
x?2 —1

o Watch Video Solution

> /(a:2 — az;E(a:2 — b?) da

o Watch Video Solution



https://dl.doubtnut.com/l/_OLARGirzxNXS
https://dl.doubtnut.com/l/_nb65pF2Wi3AM
https://dl.doubtnut.com/l/_Gmqj6mcrSVl6
https://dl.doubtnut.com/l/_xdBYFIpG7Lh5

7’/(93 ") (z 1 1) dz

o Watch Video Solution

2 + 3
8'/(a;+2)(x_2)dw

o Watch Video Solution

1
9‘/(:1; Y P s

o Watch Video Solution

10 / cos T d
. w
(14 sinz)(2 + sinz)

o Watch Video Solution



https://dl.doubtnut.com/l/_xdBYFIpG7Lh5
https://dl.doubtnut.com/l/_6JFYS1knjPzV
https://dl.doubtnut.com/l/_Sj3T8rhe7CPp
https://dl.doubtnut.com/l/_JAAL4JmzQhhi
https://dl.doubtnut.com/l/_moHGQeVasuBO

» / dz
"Jz(1+ log, z)(3 + log, x)

° Watch Video Solution

3
12, /w_+3da,

x3 — 3x

o Watch Video Solution

2132

13. Find
" /(:1;2 T 1)(2? + 4)dz

o Watch Video Solution

2
14./ z dz
x6 4+ 23 — 2

f


https://dl.doubtnut.com/l/_moHGQeVasuBO
https://dl.doubtnut.com/l/_49N2nmQxf7HR
https://dl.doubtnut.com/l/_JGMre7iME7V5
https://dl.doubtnut.com/l/_t1al6Y5t8nHk
https://dl.doubtnut.com/l/_6CTeBEds2SEd

o Watch Video Solution

X
15./ etdx
e2 + 4e* + 3

° Watch Video Solution

16‘/@- Y

o Watch Video Solution

1
17./ 5 dz
z+1)°—4

o Watch Video Solution



https://dl.doubtnut.com/l/_6CTeBEds2SEd
https://dl.doubtnut.com/l/_hdVIAhwR2s8b
https://dl.doubtnut.com/l/_xj6MENsuEyAf
https://dl.doubtnut.com/l/_RsJ76HKntZ84

18. / O iz
cos 3x

o Watch Video Solution

1
19. / dx
1+ 3e® + 2e2z

o Watch Video Solution

1
20. Evaluate: / -
sinz(3 4+ 2cos z)dz

o Watch Video Solution

1
21.Evaluate: [——— dxz
/:c (z* + 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_kgiYHZU6nwVM
https://dl.doubtnut.com/l/_ltteiNbcOi2U
https://dl.doubtnut.com/l/_2hcC3wRYwxFq
https://dl.doubtnut.com/l/_axQVAnt2snT6

, 1
22. (Z)/m dr
1

(ii)/(a; e

o Watch Video Solution

23./ v dz
2 +2x +1

° Watch Video Solution

sinz
24, / _ dx =
sin(3x)

° Watch Video Solution

2
25, /J;—Zd:c
(a + bx)


https://dl.doubtnut.com/l/_axQVAnt2snT6
https://dl.doubtnut.com/l/_Pu39sd6HjcKz
https://dl.doubtnut.com/l/_d4VHFYTOWeV2
https://dl.doubtnut.com/l/_Xntv7Ks3wV2H
https://dl.doubtnut.com/l/_ZvvFRwi9ljNB

o Watch Video Solution

1
26. Evaluate: / Tt dx

z(1 4 ze?)?

° Watch Video Solution

1
27. Evaluate: / dz
1+ + 22+ 28

o Watch Video Solution

dx

28. Evaluate: /
x4 —1

o Watch Video Solution



https://dl.doubtnut.com/l/_ZvvFRwi9ljNB
https://dl.doubtnut.com/l/_9yhxx7K7dKzr
https://dl.doubtnut.com/l/_SlFJPSWm8fV5
https://dl.doubtnut.com/l/_1qopqZ3kulq0

1
29. ./(ac T a2)da:

o Watch Video Solution

1 —-cosz
30./ dx
cos (1 + cos x)

° Watch Video Solution

1
1./ dz
24+ 2x +5

o Watch Video Solution



https://dl.doubtnut.com/l/_w8lLeHSgseVd
https://dl.doubtnut.com/l/_4gtRwGFJtMMY
https://dl.doubtnut.com/l/_MkzZtJDrOgus

1
2./ dzx
5+ 4z + 2

o Watch Video Solution

1
3./ dz
2x2 4+ bx + 3

o Watch Video Solution

1
4./ dz
222 +x + 1

° Watch Video Solution

1
5./—da:
1—z — z2

o Watch Video Solution



https://dl.doubtnut.com/l/_HdCGBx7DaBzU
https://dl.doubtnut.com/l/_KgUNJ7nobi0a
https://dl.doubtnut.com/l/_pI4mf439cmKb
https://dl.doubtnut.com/l/_u3MysVfFdoPq

1
6./ dzx
22 —4x + 1

o Watch Video Solution

Ap —
7./ z—3 dz
3x2 4+2x —5

o Watch Video Solution

1
8. Evaluate: / Tt dz
x2+4x +5

° Watch Video Solution

9./ Sz+1 dx
222+ — 1

o Watch Video Solution



https://dl.doubtnut.com/l/_cmm4Xb5B9ypp
https://dl.doubtnut.com/l/_5MqmC2VzJ4Gl
https://dl.doubtnut.com/l/_L23kx4wN2bDp
https://dl.doubtnut.com/l/_9fFVmK4n8RZ8

2¢ — 1
10./ dzx
2r2 + 2 + 1

o Watch Video Solution

1. Evaluete/ v dz
et + a2+ 1

o Watch Video Solution

1
12./ dx
VAz? —z + 4

o Watch Video Solution

1
13./ — dx
V2+z— 3z

° Watch Video Solution



https://dl.doubtnut.com/l/_j7oEUUw8ThXm
https://dl.doubtnut.com/l/_erS7KheqmkNa
https://dl.doubtnut.com/l/_3aH6fuYGdiZu
https://dl.doubtnut.com/l/_QcDDHCu99r60

1
14./ dx
vV1+z — 2

o Watch Video Solution

dx

1
15./
V2x2 + 3z — 2

o Watch Video Solution

1
16. /—da}
v/ 2?|3z|d1

o Watch Video Solution

2 5
17. Evaluate: / Tt dx
V2 +2z +5

| o WMiabl .\t daa ol ikt


https://dl.doubtnut.com/l/_QcDDHCu99r60
https://dl.doubtnut.com/l/_ZjjGwBrAFXdl
https://dl.doubtnut.com/l/_kWqC8pjleKFW
https://dl.doubtnut.com/l/_RICeKlGUG1vZ
https://dl.doubtnut.com/l/_2weYa9oIz3uq

L vvdlilll VIUCU JVIuULIVII

1
18/ Tt dx
V2r2 +x — 3

o Watch Video Solution

9% + 5
19. Tt dz

Va2 +3z 4+ 1

° Watch Video Solution

20./ z dz
vz +z+1

o Watch Video Solution

21. /\/5 — 2z + z’dzx



https://dl.doubtnut.com/l/_2weYa9oIz3uq
https://dl.doubtnut.com/l/_tU1mbgkNY8hd
https://dl.doubtnut.com/l/_ilBHfBvf2p0p
https://dl.doubtnut.com/l/_e6rvp6BOCVdb
https://dl.doubtnut.com/l/_wELApNKkscHY

l o Watch Video Solution

22, /\/x2 + 4z + ldzx

o Watch Video Solution

23. /\/ 2ar — z2dx

° Watch Video Solution

24./(:1: +2)y/z? + zdzx

o Watch Video Solution

25. Evaluate: /(:13 —5) Va? +zdex


https://dl.doubtnut.com/l/_wELApNKkscHY
https://dl.doubtnut.com/l/_kdxtJWKtVGrf
https://dl.doubtnut.com/l/_jrol79rXrWaT
https://dl.doubtnut.com/l/_M5KJmOHUDCAd
https://dl.doubtnut.com/l/_VgdGy0RNa9f5

o Watch Video Solution

26. Evaluate: /(4:1: +1) z? —z — 2dzx

o Watch Video Solution

27. Evaluate: /(2m —5)v/2+ 3z — z2dx

° Watch Video Solution

1
1./ dzx
1+ 3cos?zx

o Watch Video Solution



https://dl.doubtnut.com/l/_VgdGy0RNa9f5
https://dl.doubtnut.com/l/_M3o0ZlLDsiBv
https://dl.doubtnut.com/l/_S4QrnOOBmXkN
https://dl.doubtnut.com/l/_EDl2CXeERmDV

1
2./ S dx
(2sinx + cos x)

° Watch Video Solution

1
3./ S dx
(asinz + bcos z)

° Watch Video Solution

1
Ny ——
2+ sin"x

° Watch Video Solution

1
5./ ; dx
3sin“x + 4cos? x

° Watch Video Solution



https://dl.doubtnut.com/l/_yNaZJfBGNvMh
https://dl.doubtnut.com/l/_zNxGq2Hopdh3
https://dl.doubtnut.com/l/_cYSpklweciUf
https://dl.doubtnut.com/l/_xYdODH7FQLjL

1
6./ dzx
sinxz — 4cos2 z

o Watch Video Solution

1
7. / dz
cos2z — 3sin’z

o Watch Video Solution

1
8./ - dx
sinz cosx + 2cos?

° Watch Video Solution

1
9./ . . dx
(sinz — 2cosz)(2sinx + cosx)

| o WMiabl .\t daa Al ikt


https://dl.doubtnut.com/l/_xYdODH7FQLjL
https://dl.doubtnut.com/l/_4rMHZe2U7EHS
https://dl.doubtnut.com/l/_fka2n2bzFnwp
https://dl.doubtnut.com/l/_P7ntdXbA0DvL
https://dl.doubtnut.com/l/_XN7LpK4slJy6

[ § . vvalilll VIUCU JUIULIVII

1
10. | ——d
_/5—|— 2cosx v

o Watch Video Solution

1
n [—
/5 —4sinx dz

o Watch Video Solution

1
12. Evaluate:
valuate /13—!—300sw —|—4sinwdw

o Watch Video Solution

1
13. d
/3+2sina:+cosw v

| -


https://dl.doubtnut.com/l/_XN7LpK4slJy6
https://dl.doubtnut.com/l/_xmNaS2hmBUle
https://dl.doubtnut.com/l/_Gus7Kgg15bNY
https://dl.doubtnut.com/l/_TKZVImZdOdTS
https://dl.doubtnut.com/l/_ijq505rXoBZy

l & View Text Solution ]

1
14. Evaluate: /— dzx
2+ cosx

o Watch Video Solution

1
15. /—dw
4 + 5cosx

o Watch Video Solution

1
3+ 4sinx

° Watch Video Solution

Exercise 7m



https://dl.doubtnut.com/l/_ijq505rXoBZy
https://dl.doubtnut.com/l/_gpMkDI4RboDT
https://dl.doubtnut.com/l/_uQpGXcLrUCKD
https://dl.doubtnut.com/l/_IOfRspoMznDK
https://dl.doubtnut.com/l/_bAGH103DhXFl

2
1./ z+1 dzx
xt — 22 +1

o Watch Video Solution

2
1
2./50 - dx
x4 + 1

o Watch Video Solution

2
-1
3. Evaluate: / v dx
et + a2+ 1

° Watch Video Solution

1
4.Eva|uate:/ 7 dx

° Watch Video Solution



https://dl.doubtnut.com/l/_bAGH103DhXFl
https://dl.doubtnut.com/l/_FJHc9eWelHXZ
https://dl.doubtnut.com/l/_fh1or1jWaPax
https://dl.doubtnut.com/l/_fCVuwonXY6Kr

5. /\/cot xdx

o Watch Video Solution

2
6. Evaluate: /w—+4daz
x4 + 16

o Watch Video Solution

7. Evaluate: /(\/tana: + y/cot z)dz

o Watch Video Solution

2
8./ 2”11 dx
x4 +x2+1

° Watch Video Solution



https://dl.doubtnut.com/l/_fCVuwonXY6Kr
https://dl.doubtnut.com/l/_IFyk60oPchGX
https://dl.doubtnut.com/l/_3y2x0c0X9WKM
https://dl.doubtnut.com/l/_cACdXLmJrwfi
https://dl.doubtnut.com/l/_KglYXkKcnzQ2

Exercise 7n

31
1./ —dz
1 XL

o Watch Video Solution

2. / yidx
0

° Watch Video Solution

w/4
3./ tan zdx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_KglYXkKcnzQ2
https://dl.doubtnut.com/l/_mkIer1o0UDk5
https://dl.doubtnut.com/l/_tSvNd2zKg4ch
https://dl.doubtnut.com/l/_g8Zp5h0ErdFv
https://dl.doubtnut.com/l/_dcxXZSyon3xu

w/6
4./ v/1 — sin2zxdx
0

° Watch Video Solution

5. / sin 3zdzx
0

° Watch Video Solution

w/2
6./ cos xdzx
w/6

o Watch Video Solution

9
7.Find/ Vzdr
4

° Watch Video Solution



https://dl.doubtnut.com/l/_dcxXZSyon3xu
https://dl.doubtnut.com/l/_E6h06cGBkCPL
https://dl.doubtnut.com/l/_pcQFAy6hJBVR
https://dl.doubtnut.com/l/_ersnxnb0sLDU

1
1
8./ —dw
0 1 — x2

° Watch Video Solution

w/4
9, / cosec’zdzx
—7/4

° Watch Video Solution

w/2
10./ cos 3xdzx
0

o Watch Video Solution

w/4
11./ sin® zdx
0

| e~


https://dl.doubtnut.com/l/_ersnxnb0sLDU
https://dl.doubtnut.com/l/_vTUs2S3k2Zfc
https://dl.doubtnut.com/l/_ZTzHWETjISkG
https://dl.doubtnut.com/l/_cXki3oZFByKl
https://dl.doubtnut.com/l/_Vcp73t5LmsHC

[ W Watch Video Solution

w/2
12./ v/1 — cos2xdx
0

o Watch Video Solution

w/2
13./ /1 — cos2xdx
0

° Watch Video Solution

w/2
14. / sin® zdz
0

° Watch Video Solution



https://dl.doubtnut.com/l/_Vcp73t5LmsHC
https://dl.doubtnut.com/l/_KvxFwlK0LIX9
https://dl.doubtnut.com/l/_nIlZE5kun7dU
https://dl.doubtnut.com/l/_7410DOFBgRrb

1 1
15./ _ !
0o 2+ +1

o Watch Video Solution

16/“ dx
0 vVar — x?2

° Watch Video Solution

w/2
17. (z)/ x cos xdx
0

3
(i) / x. log xdx
1

o Watch Video Solution



https://dl.doubtnut.com/l/_zp0TbiIDTnfB
https://dl.doubtnut.com/l/_SF1rxGlnGGAB
https://dl.doubtnut.com/l/_EpjbJySWSWiM

w/2
18. (z)/ z sin z cos zdx
0

w/6
(zz)/ (2 + 32%)cos 3zdx
0

o View Text Solution

2 1 2 1
19. Evaluate:/ dx (ii)/ —dx
1 (z+1)(xz+2) 1 z(1+ 2?)

o Watch Video Solution

2
20./ /DT + 6dx
-1

° Watch Video Solution

w/2
21./ sin® zdx
0



https://dl.doubtnut.com/l/_5KQxWpPAOb49
https://dl.doubtnut.com/l/_vKVT8bYayHs3
https://dl.doubtnut.com/l/_anaTXa3A6Idp
https://dl.doubtnut.com/l/_8HvRfOplQQC5

° Watch Video Solution

w/6
22, / cos x cos 3xdx
0

o Watch Video Solution

w/4 1
23./ —dx
0 1+ cos 2z

o Watch Video Solution

w/2
24./ (a cos? z + bsin® ar:)d:r:
0

° View Text Solution



https://dl.doubtnut.com/l/_8HvRfOplQQC5
https://dl.doubtnut.com/l/_aMu4BM38TG0j
https://dl.doubtnut.com/l/_DbHik8eiQRdQ
https://dl.doubtnut.com/l/_1HfKHe6pXkek

25. Evaluate : / ' (tanz + cot z)’da

T

3

° Watch Video Solution

1 1
26./ dx
0 1‘|‘$+2$2

o Watch Video Solution

2 1
27./ 1t
0 4+ + 22

o Watch Video Solution

2 1
28./ —dx
1 z(14 x)

° Watch Video Solution



https://dl.doubtnut.com/l/_fS0cCWnPOYBW
https://dl.doubtnut.com/l/_VI5MXFPepeAg
https://dl.doubtnut.com/l/_XRVB5hZzcdSR
https://dl.doubtnut.com/l/_RIm44dMpujOs

2
3
2. [ e
1 z(x +2)

o Watch Video Solution

w/2
30. / z? cos zdzx
0

o Watch Video Solution

dz

ce’(1+ xlo
31./ ( gx)
1 T

o View Text Solution

o [ (F 2



https://dl.doubtnut.com/l/_RIm44dMpujOs
https://dl.doubtnut.com/l/_oib8ukWe02uW
https://dl.doubtnut.com/l/_iRAyadv7ZzXA
https://dl.doubtnut.com/l/_vOSnrSHrZI9x
https://dl.doubtnut.com/l/_ObjF1smZVgvw

I o Watch Video Solution I

Exercise 70

o 3 cos(log )
1. Evaluate the following integral: / ——dx
1 T

o Watch Video Solution

2./aLdm
0 Va? - 22
A -a
B.a
C. 2a

D.O


https://dl.doubtnut.com/l/_ObjF1smZVgvw
https://dl.doubtnut.com/l/_ptJx01zFkc5V
https://dl.doubtnut.com/l/_IczkQjC5WiyM

Answer: B

o Watch Video Solution

T
3. Evaluate the integrals / 3

sin

14 cos?z

dx

° Watch Video Solution

w/2
4, / sin® z cos® zdzx
0

o Watch Video Solution

w/4
5. / cos 0. cosec’0do
0

o Watch Video Solution



https://dl.doubtnut.com/l/_IczkQjC5WiyM
https://dl.doubtnut.com/l/_nuorzaojI4k9
https://dl.doubtnut.com/l/_b0yO8DGQx2fz
https://dl.doubtnut.com/l/_SrTIRiUzaybu

6./”/2 dx
0 4sin’z + 5cos?
T
A ——
24/5

s T
"4

Answer: C

o Watch Video Solution

1 1
7./ —dw
o €ft+te ?*

o Watch Video Solution



https://dl.doubtnut.com/l/_FcPgnyuc63bt
https://dl.doubtnut.com/l/_NxRwA3RV540B

8,/6 _dv
1/e z(logz)'/?

° Watch Video Solution

2
9./ dx :
1 z(1+ logz)

° Watch Video Solution

/2 cosec x cot x
10. 5 dz
/6 1+ cosec “x

o Watch Video Solution

/4
1. (z)/ e sec® rdzx
0

(iz_)/“/‘1 sin(cos 2z) "
0

cosec 2x


https://dl.doubtnut.com/l/_ITp2WLT9d5U9
https://dl.doubtnut.com/l/_IpcZisQdBQQV
https://dl.doubtnut.com/l/_okUpyGjB2ZSk
https://dl.doubtnut.com/l/_HDigJwRsmZ4d

o Watch Video Solution

o1
12. / T T w2da:
0 /14 2z

o View Text Solution

2 _—-1/z
13./ € dx
0 x?

o Watch Video Solution

2
14./ % iz
1 41+ 222

o Watch Video Solution



https://dl.doubtnut.com/l/_HDigJwRsmZ4d
https://dl.doubtnut.com/l/_7RNpPlss4x6k
https://dl.doubtnut.com/l/_4PjUle25ecA1
https://dl.doubtnut.com/l/_5xL7NdKB9m0F

2
15./ %dm
-1 (z2 4+ 1)

o Watch Video Solution

1/2 - —1
15./ S,
0 (1 — z2)3/?

o View Text Solution

17./ —w2dx
0 (14 x?)

o View Text Solution

" 1
g D+ 2coszx

I o Watch Video Solution


https://dl.doubtnut.com/l/_MfuYYsml237O
https://dl.doubtnut.com/l/_gkGnZQBmT1Lr
https://dl.doubtnut.com/l/_BA3NPwsdNoHT
https://dl.doubtnut.com/l/_vOPmgSxTTPLr

™ 1 — 2
19./ —— " iz
0 (14 z?)

° View Text Solution

w/2
20./ e”(sinz + cos z)dx
0

o Watch Video Solution

™
21./ z sin® zdx
0

o Watch Video Solution

2log
22. / ——dx
1 xr


https://dl.doubtnut.com/l/_vOPmgSxTTPLr
https://dl.doubtnut.com/l/_fkmOfO8S9JCI
https://dl.doubtnut.com/l/_Y6O1zv53L3k1
https://dl.doubtnut.com/l/_nQoXmI9l1LS5
https://dl.doubtnut.com/l/_ICVtAI0Y7EFB

o Watch Video Solution

$2

23. that
prove tha /0 (22 1 ) (2 £+ )

dr =

s

2(a + b)

° Watch Video Solution

1 1
24./ dx
0o 2 +2x+3

° Watch Video Solution

w/2 1
5. s
0 44 3coszx

o Watch Video Solution



https://dl.doubtnut.com/l/_ICVtAI0Y7EFB
https://dl.doubtnut.com/l/_BZnIN6Ts85kl
https://dl.doubtnut.com/l/_FKzNXG5aQRBz
https://dl.doubtnut.com/l/_ESM76d27WQGX

w/4
26./ e’ (tana: + sec? :13) dz
0

° Watch Video Solution

2 1
27. ——dx
/1 2(1 4 =)

° View Text Solution

2
3
28./ N T e
0 2—x

o Watch Video Solution

w/2
29. / T sin x cos zdx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_pZQjJluKUpqf
https://dl.doubtnut.com/l/_iewQbma9F46L
https://dl.doubtnut.com/l/_gHkciG3w3O8o
https://dl.doubtnut.com/l/_eJwLQAq2GwDr

w/2 dz
30. —_—
/0 1+ 2coszx

o Watch Video Solution

1
1 — 2
31./:13 wdaz
0 1+$2

o View Text Solution

™
32./ x sinz. cos® zdzx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_eJwLQAq2GwDr
https://dl.doubtnut.com/l/_cudJhZtlO8h0
https://dl.doubtnut.com/l/_CePQzZHm5Zbc
https://dl.doubtnut.com/l/_PA5tNxFDa9jJ
https://dl.doubtnut.com/l/_nGhlq1wo7iNJ

m/2 vtanzx T
1. Prove that : de = —
0 \/taanr\/cota: 4

o Watch Video Solution
™/2 J/cos T
2. Prove that : de = —
0 \/sinw + 4/cosx 4

o Watch Video Solution

3

m/2 sin’ x ™
3. Prove that : 3 de = —
0 sin® & + cos® z 4

° Watch Video Solution

/2 5
cos T
4, Prove that :/ - de = —
0 sin’  + cos® 4

° Watch Video Solution



https://dl.doubtnut.com/l/_nGhlq1wo7iNJ
https://dl.doubtnut.com/l/_eT11EGmcOQmZ
https://dl.doubtnut.com/l/_xdmcQNNy7Eye
https://dl.doubtnut.com/l/_rcJDPtTpQkDD

=] 3

w/2 1
5. Prove that: / SE——
0 1 + tan® x

° Watch Video Solution

/2 ginz — cosx .
6. Prove that : - dx = 0" (ii) Prove that " :
0 1+ sinzcosx

int_(0)"(pi//2) sin 2x. log (tan-x) dx=0'

° Watch Video Solution

2

v
T
7. Prove that : / x cos’ zdr — R
0

° Watch Video Solution



https://dl.doubtnut.com/l/_rcJDPtTpQkDD
https://dl.doubtnut.com/l/_LCMQH0qDuD2M
https://dl.doubtnut.com/l/_kdRP0p5hysUb
https://dl.doubtnut.com/l/_PYmR4KQJCUht

a
T
8. Prove that :/ \/_ dr = a
0 \/5 + \/a - 2
° Watch Video Solution
™
9. Prove that : / sin?z. coszdz = 0
0
o Watch Video Solution
10. Prove that

w/2
/ (sinz — cos z)log(sin® z + cos® z)dz = 0
0

o Watch Video Solution

11. Prove that :

/27\/%5+\/5dw 2



https://dl.doubtnut.com/l/_FE1qxrlYQpsL
https://dl.doubtnut.com/l/_nuc8G4rJlJsB
https://dl.doubtnut.com/l/_ypiU8xCBSolQ
https://dl.doubtnut.com/l/_iSOKT52vYLOK

| o Watch Video Solution

T gxsinc 2
12. Prove that :/ —  dx = T
o l+cos?z 4

° Watch Video Solution

V2+1

/2 x T
13. Prove that : / dz
0

: = 0g
sSInx + cosx 4./2

V2 -1

o Watch Video Solution

sin’ T

7
14.P that de = ——
rove tha /0 1 + sinx cos v 3v/3

o Watch Video Solution



https://dl.doubtnut.com/l/_iSOKT52vYLOK
https://dl.doubtnut.com/l/_iLNwYk7Zr42m
https://dl.doubtnut.com/l/_3qdFgpOoKnOx
https://dl.doubtnut.com/l/_TKM3I7SG6Cfb

1
15. Evaluate : / (1— )% da
0

o Watch Video Solution

1
1

16. Evaluate:/ 10g<— — 1)d:1:
0 xr

o Watch Video Solution

1
17. Evaluate:/ z(1 - z)°da
0

° Watch Video Solution

4
18. Evaluate : / z(4 — x)3/2da:
0

o Watch Video Solution



https://dl.doubtnut.com/l/_aVO4vXxMfrgd
https://dl.doubtnut.com/l/_iC3BRHzLIV8h
https://dl.doubtnut.com/l/_E1ihcjOD5O9M
https://dl.doubtnut.com/l/_PQd7ph46bVxn

19. Prove that (z)/ 2 sin” 2dz = 0
(zz)/ (sin®z +2™)dz = 0
(iii)/ el*lde = 2(e — 1)

w/2
(zv)/ sin’ zdz = 0
—7/2

o Watch Video Solution

T tanx 2
20./ T dr = T
0 secx + cosx 4

° Watch Video Solution

w/2
21. Evaluate :/ |sinz|dz
—m/2

o Watch Video Solution



https://dl.doubtnut.com/l/_PQd7ph46bVxn
https://dl.doubtnut.com/l/_JXfp70Ely1NG
https://dl.doubtnut.com/l/_zqPs4e1c66Vh
https://dl.doubtnut.com/l/_LiHyL1J3G80O

8
22. Evaluate :/ |z — 5|dx
0

o Watch Video Solution

w/4
23. Evaluate :/ |sinz|dx
—7/4

o Watch Video Solution

4. If f(z) = {2x +11<z <2, then

22+12<z<3
3
1

evaluate

° View Text Solution



https://dl.doubtnut.com/l/_LiHyL1J3G80O
https://dl.doubtnut.com/l/_0aXHQO2BmasX
https://dl.doubtnut.com/l/_3EtdWT42fvRU
https://dl.doubtnut.com/l/_mguMN9KH0SWc

evaluate

o View Text Solution

v
26. Prove that :/ 5 de = —
0 a?cos?z + b?sin”x 2ab

o Watch Video Solution

™ ecos T
27. dx =
0 eeos T _|_ e —CosT

o Watch Video Solution

/2 rsinxcos T ™
28. Prove that : de = —
0

sin*z + cost x 16



https://dl.doubtnut.com/l/_00DYJU7udEpX
https://dl.doubtnut.com/l/_10ymu8YLOeQR
https://dl.doubtnut.com/l/_sq2Ut08uMrX5
https://dl.doubtnut.com/l/_gwUu6nGecoRf

o Watch Video Solution

4
1. / rdr
2

° Watch Video Solution

3
2. / (2® + 1)de
0

o Watch Video Solution

4
3./ (2:1:2 + 1)da:
1

o Watch Video Solution



https://dl.doubtnut.com/l/_gwUu6nGecoRf
https://dl.doubtnut.com/l/_jw4pLgJAVHcz
https://dl.doubtnut.com/l/_P26WDZm5pZ0r
https://dl.doubtnut.com/l/_k1doL0lnquhC

5
4./ (a:2 — 2x)dac
1

o Watch Video Solution

2
5. / edx
0

o Watch Video Solution

2
6./ e *dx
1

o Watch Video Solution

b
7. / sin zdx
a

[ &


https://dl.doubtnut.com/l/_k1doL0lnquhC
https://dl.doubtnut.com/l/_Lt2aBBDfvCzP
https://dl.doubtnut.com/l/_RlwjN2J5PrZK
https://dl.doubtnut.com/l/_84m1W0UiViSV
https://dl.doubtnut.com/l/_VJnCe38K0u7J

[ W Watch Video Solution ]

b
8. / cos xdx
a

o Watch Video Solution

Exercise 7r

1. /,/1 + sin 2zdx

A.sinxz —coszx + ¢

B.cosx — sinx + ¢

C.—sinx —cosx + ¢


https://dl.doubtnut.com/l/_VJnCe38K0u7J
https://dl.doubtnut.com/l/_YojmwNi8HxEg
https://dl.doubtnut.com/l/_ItUxmwDc8J4a

Answer: B

° Watch Video Solution

2./3—4sina:dw _
cos? x

A d4tanz + 4secx + ¢
B.3tanx + 4secx + ¢

C.4tanz + 3secx + ¢

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ItUxmwDc8J4a
https://dl.doubtnut.com/l/_SJWpyOcXGnEL

e — 1
3./ de = 7
e?r + 1

Alog(l+e ) +ec
B.log(e” —e %) +c

C. log(ex + e_x) +c

Answer: D

° Watch Video Solution

1
4./ 5 de = 7
sin“ x cos? x

A.tanxz —cotx + ¢

B.secx + cosecx + ¢


https://dl.doubtnut.com/l/_puMSxTarKYUh
https://dl.doubtnut.com/l/_Wr6bhK2oCoCH

C.secx — cosecx + ¢

Answer: B

° Watch Video Solution

sinx
5./—dw =7
v/1+4 coszx
A1+ cosz +c
B.—2y/1 +cosx + ¢
C.2y/1+cosz + ¢

D.2(1 4 cosz) + ¢

Answer: C

| o Watch Video Solution


https://dl.doubtnut.com/l/_Wr6bhK2oCoCH
https://dl.doubtnut.com/l/_gJjOGTWgbYwe

6. The value of ﬁ:a,n3(2a:)sec(2x)dac is equal to:

1
A. —sec’ 2z + Esec2w +c

sec® 2z — Esec2w +c

cnll—l cnln—l l\.’)|H

1
sec® 2z + Esec2m +c

Answer: C

° Watch Video Solution

7. Write a value of /e"’ (sinx + cos x)dx

A.e®cosx + ¢


https://dl.doubtnut.com/l/_gJjOGTWgbYwe
https://dl.doubtnut.com/l/_yRZUaOsOdgt5
https://dl.doubtnut.com/l/_qrarLeQfD0s5

B.—e®sinx + ¢

C.—e®cosz + ¢

Answer: A

° Watch Video Solution

8. /cos(log z)dzx

A. —[sin(logx) + cos(logz)] + ¢

M|E~3

B. —[sin(logz) — cos(logz)] + ¢

M|H

C. None of the above

Answer: B


https://dl.doubtnut.com/l/_qrarLeQfD0s5
https://dl.doubtnut.com/l/_Cry9oGXchlcd

o Watch Video Solution

t -1
9./—an Tz = 7
1+ x2

A. —(tan_laz)2 +c
B. (tan_lac)2 +c

C. (tan_1 a:)3 +c

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Cry9oGXchlcd
https://dl.doubtnut.com/l/_pgtm0eO4mRsu
https://dl.doubtnut.com/l/_vQSSLj7Jwlk0

A %emtan_lx s

-1
B.emtan T T

C. None of these

Answer: B

° Watch Video Solution

sin(z — «)
sin(z + )
A. x cos 2a + sin 2alog|sin(z + a)| + ¢

B. z cos 2 — sin 2aloglsin(z + a)| + ¢

C. None of the above


https://dl.doubtnut.com/l/_vQSSLj7Jwlk0
https://dl.doubtnut.com/l/_G3Ublkm44hqv

Answer: C

° Watch Video Solution

12. /sin3 z cos® xdx = ?

1,4 1,6
A.Zsm x—i—gsm T +c

1 4 1 6
B.Zcos w—gcos r+c

C. none of the above

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_G3Ublkm44hqv
https://dl.doubtnut.com/l/_7qcQDLMZ5KDO

tan(z) log cos(z)

2 + 2

tan(x) logsin(z)
2
2 + 2

C. None of the above

Answer: B

+c

° Watch Video Solution



https://dl.doubtnut.com/l/_FZQGJLeyWjGC
https://dl.doubtnut.com/l/_6TiPbDIipdxt

T

C. ta,n(E) +2x + ¢

D. none of these

Answer: A

° Watch Video Solution

2
15./ T 4z =2
2 +4

Az + 4tan_1(%) +c
B.x — 2tan_1<%) +c

C. None of the above

Answer: C

| ° Watch Video Solution


https://dl.doubtnut.com/l/_6TiPbDIipdxt
https://dl.doubtnut.com/l/_TmrT8D1bsTlz

2
16./ Xsin® zdz = ?
—9

A —2
B.4

C. None of the above

Answer: D

o Watch Video Solution

4 7T—x
17./ log( )da:: ?
_4 24+

A 4


https://dl.doubtnut.com/l/_TmrT8D1bsTlz
https://dl.doubtnut.com/l/_YRs6bRAXHooS
https://dl.doubtnut.com/l/_Z7rGFbHLn2De

C.0

D.1

Answer: C

o Watch Video Solution

8
18./ |z — 5|de = 7
2

A9
B.10

Cn

Answer: B


https://dl.doubtnut.com/l/_Z7rGFbHLn2De
https://dl.doubtnut.com/l/_5YeTpaJzddjf

o Watch Video Solution

1
19./ z(l—z)"dz = ?
0

1
A (n+1)(n+ 2)
5 L
“n(n + 2)
1
(n+1)(n+ 3)

C.

Answer: B

° Watch Video Solution

1
1_
20./ Tz = 7
0 1‘|‘.’E


https://dl.doubtnut.com/l/_5YeTpaJzddjf
https://dl.doubtnut.com/l/_xoPWin10HJ6q
https://dl.doubtnut.com/l/_oo19UGgUmRnu

+1

(Ol I Y

—1

C. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_oo19UGgUmRnu
https://dl.doubtnut.com/l/_2ObDvYdjbLRH

Answer: B

o Watch Video Solution

w/2
22./ rsincosxdr = ?
0

A

@
§|>_} ol w3

n

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2ObDvYdjbLRH
https://dl.doubtnut.com/l/_htQf5g4yK8FB

w/4
23./ log(1 + tanx)dx = ?
0

T

A
4

log 2

B. Zlog 2
- g log

C. Zlog2
- glog

Answer: D

° Watch Video Solution

1
24./ |5 — 3|de = 7
0


https://dl.doubtnut.com/l/_Qq5UrIe6ZPty
https://dl.doubtnut.com/l/_L0O8V3fKG866

Answer: A

° Watch Video Solution

3
25. if f(z) = {Sx +4,0 <z <2, then/ flz)de = 7
0

5z 2<x<3

Answer: B

| nlll s 1 wa* 1 o~ 1 n®


https://dl.doubtnut.com/l/_L0O8V3fKG866
https://dl.doubtnut.com/l/_bbUmBrmDpNZN

{ ' Vvald viaco >O1ution ]

Exercise 7s

1
if /(sin2:c — cos2z)dx = —sin(2z — k) + ¢ then k=7
V2

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_bbUmBrmDpNZN
https://dl.doubtnut.com/l/_bBO0H0P3xseb

1
2. / de = 7
\ sin3 I COS X

A —2/tanx + c
2
B. +c
tanx
-2
C. +c
tanx
D.
Answer: D

° Watch Video Solution

equals

3. The integral / dz
z?(z* + 1)

3/4

A1+ +e

B. (1 — :1:_4)1/4 +c


https://dl.doubtnut.com/l/_Vg4kqYgntbQs
https://dl.doubtnut.com/l/_8J6W0n7fGPqT

C.—(l + :c_4)1/4 +c

Answer: D

° Watch Video Solution

4./{1 + 2tanz(tanz + secx)}/ 2dz = ?

A.log{cos ecx(secz + tanz)} + ¢
B. log{secz(secx + tanz)} + c

C. None of the above

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_8J6W0n7fGPqT
https://dl.doubtnut.com/l/_zFbgYXclr8Jk

1
5 [———d
/:c(:c" +1) v

A %log{w”(w" + 1))} +c

B. lo z” +
) gwn+1 c

C. None of the above

Answer: A

° Watch Video Solution

6. ﬁog(a:2 + a2)dx =7

A.xlog(x2 + a2) — 2z + 2atan” !, % +c


https://dl.doubtnut.com/l/_zFbgYXclr8Jk
https://dl.doubtnut.com/l/_rQ097HeoORc2
https://dl.doubtnut.com/l/_P3h3Ncvm0wHI

B.:clog(gr:2 + a2) + 2z — 2atan” . % +c

C. None of the above

Answer: B

° Watch Video Solution

) 2 g 2

C. None of the above

Answer: C


https://dl.doubtnut.com/l/_P3h3Ncvm0wHI
https://dl.doubtnut.com/l/_Fkd4RnhJtAdz

° Watch Video Solution

z — 1)e”
8. Evaluate: —3d:13
(z + 1)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Fkd4RnhJtAdz
https://dl.doubtnut.com/l/_FJ4DBzy4srkO
https://dl.doubtnut.com/l/_Oqxgjmyvkbpg

A—" 4 2 [:I; — 2log(a,erac)} +c

batbz) B b
B 2 —3[ 1o (a+b:1:)}+c
"ba+bz) B bo°

C. None of the above

Answer: B

° View Text Solution

Alog(z — 1) —log(z® — 1) + ¢
B.log(:c3 —1) +log(z — 1) + ¢

C. None of the above


https://dl.doubtnut.com/l/_Oqxgjmyvkbpg
https://dl.doubtnut.com/l/_cjjDSakplFwb

Answer: C

° View Text Solution

. 27 . T I~
n mtegrate/ e’. sm(— + —)dx
0 4 2
A.O

B. -1

C. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cjjDSakplFwb
https://dl.doubtnut.com/l/_MRCA601RyHaU

V1 — g2
3 1
NI
12 2
8 /3 1
12 2
c T/ 3 1
T 12 2
D.
Answer: A

° View Text Solution

w/4
13./ veotzdr = 7
0

1)

Hf
7 ﬂlog(x/_
B. 2 L log(\/i —

FRNG

1)



https://dl.doubtnut.com/l/_9TXNmOaRbzlt
https://dl.doubtnut.com/l/_3c5Fy4DwtPaC

C i 2log(\/§— 1)
D.
Answer: D

° View Text Solution

1
14./ cot_l(l—a:—i—azz)d:v =7
0

A — +log2

— log2

(Y I T CY

C.—Z _1og2
5~ log

Answer: C

| ° View Text Solution


https://dl.doubtnut.com/l/_3c5Fy4DwtPaC
https://dl.doubtnut.com/l/_6AvWMPQA5P0K

15. Evaluate / ! («/tana: + 4/cot a:)d:c
0

Answer: A

° Watch Video Solution

/2 ging — cosx
16. - de = 7
0 1 + sinx cos ¢

A0


https://dl.doubtnut.com/l/_6AvWMPQA5P0K
https://dl.doubtnut.com/l/_1anz7SvOtkkS
https://dl.doubtnut.com/l/_eijfJvT6p0iK

B.1

C. None of the above

Answer: B

o View Text Solution

w/2
17./ cosec (a: — I) cosec (m — 1>da: = 7
0 3 6

A —log3

B.—2log3
C.2log3
D.

Answer: C


https://dl.doubtnut.com/l/_eijfJvT6p0iK
https://dl.doubtnut.com/l/_0EIY8tHVIwmA

o View Text Solution

w/2 1
18. Evaluate: / 5 dzx
0 (a2 cos? z + b2 sin® :13)

71'(0,2 + b2)

A —
4a3b3

w(a? + )
4a?b?

C. None of the above

Answer: B

° Watch Video Solution

w/2
19. Prove that: / log[tanz + cot z|dz = 7(log) 2
0


https://dl.doubtnut.com/l/_0EIY8tHVIwmA
https://dl.doubtnut.com/l/_pl2Dj2BdZzqD
https://dl.doubtnut.com/l/_xtQRlH1gZuvD

A —mlog?2
B. mlog 2

C. Zlog2
.5 log

Answer: B

° Watch Video Solution

T 1 x
20. sinln + — |x. cosec .
0 2 2

A7r
)
B.m

C.2m



https://dl.doubtnut.com/l/_xtQRlH1gZuvD
https://dl.doubtnut.com/l/_L2Vmjh45joaw

Answer: C

o View Text Solution

1.sin 2z

o Watch Video Solution

2.cos 3z

o Watch Video Solution



https://dl.doubtnut.com/l/_L2Vmjh45joaw
https://dl.doubtnut.com/l/_FoHWdSpOBbym
https://dl.doubtnut.com/l/_6OJH49yb6ix9
https://dl.doubtnut.com/l/_L0AzGa5axQ4m

I o Watch Video Solution

4.(az +b)°

o Watch Video Solution

5.sin 2z — 4¢3*

o Watch Video Solution

6. /(463"” + 1) dzx

o Watch Video Solution



https://dl.doubtnut.com/l/_L0AzGa5axQ4m
https://dl.doubtnut.com/l/_wDvjzraVkuh6
https://dl.doubtnut.com/l/_Oan3WHQqkbur
https://dl.doubtnut.com/l/_fhG32mpu7rgZ

F ()
7. |Iz°(1 — — |dz
2

o Watch Video Solution

8. /(aa:2 + bx + c) dx

o Watch Video Solution

o. /(2332 + ez)dw

o Watch Video Solution

. /(f . %)dx

o Watch Video Solution



https://dl.doubtnut.com/l/_SEbTWkRQJnPL
https://dl.doubtnut.com/l/_CPoWeW8k74Cc
https://dl.doubtnut.com/l/_HTSXD2BE8Mdc
https://dl.doubtnut.com/l/_kY0AQA6hppOp

3 2
"./93 + bx 4da:
22

o Watch Video Solution

343 4
12.w—|—aj—|— dz

Jz

° Watch Video Solution

3 .2 -1
13. Find the integral/m 2 +1$ dx
m J—

o Watch Video Solution

14./(1 — z)/zdz



https://dl.doubtnut.com/l/_kY0AQA6hppOp
https://dl.doubtnut.com/l/_31AfPRyIOcqE
https://dl.doubtnut.com/l/_P7gjvFkfOjbd
https://dl.doubtnut.com/l/_wLyKlhYREqJM
https://dl.doubtnut.com/l/_9NuUViApOBkK

| ' Vvvalch video ooilution

15. Find the integral/ﬁ(3w2 + 2z + 3) dx

o Watch Video Solution

16./(2:13 —3cosx + €*)dz

o Watch Video Solution

17.Find the integral/(Zac2 — 3sinz + 5\/5) dx

° Watch Video Solution

18. Find the integral/secw(seca: + tanz)dz

f


https://dl.doubtnut.com/l/_9NuUViApOBkK
https://dl.doubtnut.com/l/_O5Oc5mjjgb8P
https://dl.doubtnut.com/l/_w46D1JbMhwKS
https://dl.doubtnut.com/l/_qOiytXVSkGw3
https://dl.doubtnut.com/l/_k9A4UW9sOFid

| 0 Watch Video Solution

2
sec” T
19. /—zdm
cosec “x

o Watch Video Solution

— 3sinx
20. [——— dx
cos2 x

o Watch Video Solution

1
2. The anti derivative of VZ + — |equals(A)
NZ?

1 2 1 2
_a;§+2:c§+0 (B) L3 —z% 4+ C(C) —x%+2w%+0
3 3 2 3
0 2ot + 22t 1 C

PRI R

A2 1,

§w3+§x +c


https://dl.doubtnut.com/l/_k9A4UW9sOFid
https://dl.doubtnut.com/l/_JYTagUkGFXHp
https://dl.doubtnut.com/l/_NC67apA8KLLf
https://dl.doubtnut.com/l/_b3M5j6WqAAad

2 1
B.gaﬂ + 2x2 +¢
c 3 3 1 .
—x2 —q2
.233 + 233 +c
D.
Answer: c

° Watch Video Solution

22.If if(:zc) = 4x% — isuch that f(2) = 0. Then f(x) is(A)
dz z*

1 129 1 129 1 129
4 3 4
- B et =+ = (O 2t + = + —— (D
x p 8():1: p” 8():1: e 8()
gy L 120

x4 8

, 1 129

A x —_ _

x4 8

s i L 129

' x3 8

;1 129

Cod+ — + —


https://dl.doubtnut.com/l/_b3M5j6WqAAad
https://dl.doubtnut.com/l/_tWqcorMSd2ZO

D. None Of These

Answer: B

o Watch Video Solution

1/ 2z
“J1+ 22

° Watch Video Solution

lo 2
5 (logx)
xr

dzx

° Watch Video Solution



https://dl.doubtnut.com/l/_tWqcorMSd2ZO
https://dl.doubtnut.com/l/_vhi8VznDWbie
https://dl.doubtnut.com/l/_1FfyCxi0pPiR
https://dl.doubtnut.com/l/_bOGigRw4UFWf

1
3.—
x + xlogx

o Watch Video Solution

4.sin z sin(cos )

o Watch Video Solution

5.sin(ax + b)cos(azx + b)

o Watch Video Solution

6.\/axr + b

° Watch Video Solution



https://dl.doubtnut.com/l/_bOGigRw4UFWf
https://dl.doubtnut.com/l/_wtYubBxr8Ibl
https://dl.doubtnut.com/l/_6fE1K7QRZMKf
https://dl.doubtnut.com/l/_iyLOJi9ZOWDR
https://dl.doubtnut.com/l/_1wh0qINsuFUq

7.x/x + 2

o Watch Video Solution

8.xv1+ 212

° Watch Video Solution

9. Integrate the functions(4z + 2)v/z? + = + 1

o Watch Video Solution

1

Vo

10.

o Watch Video Solution



https://dl.doubtnut.com/l/_1wh0qINsuFUq
https://dl.doubtnut.com/l/_nf1w0kYJCWgI
https://dl.doubtnut.com/l/_qvp4cehvpqLF
https://dl.doubtnut.com/l/_9didS8kEIG0N

11. Integrate the functionsL, z >0
v +4

° Watch Video Solution

1
12. Integrate the functions (:133 — 1) 3 g0

o Watch Video Solution

$2

13. Integrate the functions—3
(2 + 323)

° Watch Video Solution

: 1
14. Integrate the functions ———,z > 0
z(logx)

o Watch Video Solution



https://dl.doubtnut.com/l/_iyvp07PGEhDI
https://dl.doubtnut.com/l/_pzr6xmII0zsQ
https://dl.doubtnut.com/l/_7XKpgQ92a5Mh
https://dl.doubtnut.com/l/_zzrCSXQdwBiT

15. Integrate the functions

9 — 422

o Watch Video Solution

16. 62:13 +3

o Watch Video Solution

Z
17. ?

o Watch Video Solution

e " ((=1Ds)

18. Integrate the functions
1+ 22

| o Watch Video Solution


https://dl.doubtnut.com/l/_zzrCSXQdwBiT
https://dl.doubtnut.com/l/_uKkx1VQFfZ6F
https://dl.doubtnut.com/l/_OhzTkZQth41Y
https://dl.doubtnut.com/l/_a4bkWS5Z9UXz
https://dl.doubtnut.com/l/_jAQWuSCJDjan

23:_1

19. Integrate the functions
e + 1

o Watch Video Solution

2z 2z

. —€e
20. Integrate the functions ———

° Watch Video Solution

21. Integrate the functionstan®(2z — 3)

° Watch Video Solution

22. Evaluate: /sec2(7 —4z) dz

| -


https://dl.doubtnut.com/l/_jAQWuSCJDjan
https://dl.doubtnut.com/l/_PzR94ifn9Zti
https://dl.doubtnut.com/l/_spQF3N8MbVWR
https://dl.doubtnut.com/l/_owXNRrxGm6E3
https://dl.doubtnut.com/l/_HaZPXfxYpGpc

| ®J Watch Video Solution

1

2 sin” " x
VI—a?

o Watch Video Solution

2cosx — 3sinx

"6cosz + 4sinz

° Watch Video Solution

1
25. Integrate the functions

cos2z(1 — tanz)’

° Watch Video Solution



https://dl.doubtnut.com/l/_HaZPXfxYpGpc
https://dl.doubtnut.com/l/_TsaHVPFHG6JV
https://dl.doubtnut.com/l/_PyDmg2u0YgA6
https://dl.doubtnut.com/l/_ywvvVzaFpGmj

cos \/x
NZ3

26. Integrate the functions

° Watch Video Solution

27. \/sin 2x cos 2x

° Watch Video Solution

COos T

v1+ sinzx

28.

o Watch Video Solution

29. Integrate the functionscot x logsin

o Watch Video Solution



https://dl.doubtnut.com/l/_cEIgOlKLqP3D
https://dl.doubtnut.com/l/_hozBhEmda8UN
https://dl.doubtnut.com/l/_VL0i8b48fch3
https://dl.doubtnut.com/l/_CuPHhEdm3apF

sinx
30, ———
1+ cosx

o Watch Video Solution

sinx

31. Integrate the functions >
(14 cosx)

o Watch Video Solution

1

32.Integrate the functions ———
1+ cotzx

o Watch Video Solution

1

33, ———
1 —tanzx

| o Watch Video Solution


https://dl.doubtnut.com/l/_CuPHhEdm3apF
https://dl.doubtnut.com/l/_JjFXj36lNWoZ
https://dl.doubtnut.com/l/_6NmYYwzOyOqD
https://dl.doubtnut.com/l/_oS6AcVvlZn2R
https://dl.doubtnut.com/l/_paRIWnrUlCZr

. vitanzx
34.Integrate the functions ——
sinz cos

° Watch Video Solution

(1+ logz)?
T

35.

° Watch Video Solution

(1+ z)(z + logz)”

36. Integrate the functions
T

o Watch Video Solution

T sin(ta,n_1 :L'4)

1+ x8



https://dl.doubtnut.com/l/_paRIWnrUlCZr
https://dl.doubtnut.com/l/_idZ97ibor1HM
https://dl.doubtnut.com/l/_n689GzqsPY0F
https://dl.doubtnut.com/l/_18TYxZX59W67
https://dl.doubtnut.com/l/_UHaC348Y5Eli

o Watch Video Solution

102° + 10z*(log) dz
38./ (1og) equals
210 4+ 10°
A 10 — 210 + ¢
B.10° + z'° + ¢
1

C. (10"” — .'L'lo) T +ec

D.log(10” + z'°) + ¢

Answer: D

° Watch Video Solution

dx
39./ equals
s

. 2 2
1In r Cos“ x


https://dl.doubtnut.com/l/_UHaC348Y5Eli
https://dl.doubtnut.com/l/_AlLyVDiwzozo
https://dl.doubtnut.com/l/_rGATsxs3Kxq3

A.tanxz —cotx + ¢

B.tanxz cot x + ¢

C.tanxz — cot 2z + ¢

Answer: b

o Watch Video Solution

1. Find the integrals of the functionssin®(2x + 5)

o Watch Video Solution



https://dl.doubtnut.com/l/_rGATsxs3Kxq3
https://dl.doubtnut.com/l/_ccfJamyssFqJ

2. Integrate the functions sin 3z cot 4z

o Watch Video Solution

3. Integrate the functions cos 2z cos 4z cos 6z

o Watch Video Solution

4.Find the integrals of the functions s €% (2z + 1)

° Watch Video Solution

5. Integrate the functionssin®  cos® x

° Watch Video Solution



https://dl.doubtnut.com/l/_TVDfQ12PVcg9
https://dl.doubtnut.com/l/_INEUwQwoDDtc
https://dl.doubtnut.com/l/_G8pvz5nObq4z
https://dl.doubtnut.com/l/_n83mEJHeNvHv

6. Inetegratesin x sin 2z sin 3z

o Watch Video Solution

7.sin4x sin 8x

° Watch Video Solution

) 1 —cosz
8. Integrate the functions
+ cos x

° Watch Video Solution

9. /& da
1+ cosx

o Watch Video Solution



https://dl.doubtnut.com/l/_TROUG3D6Y4lT
https://dl.doubtnut.com/l/_x7ora34XLe8j
https://dl.doubtnut.com/l/_XuHdPD3G5K8F
https://dl.doubtnut.com/l/_eszZjtMcMjh9

10. Integrate the functionssin? z

o Watch Video Solution

11. Integrate the functionscos? 2z

o Watch Video Solution

) sin® z
12. Integrate the functions ———
14 cosz

o Watch Video Solution

COSs 2 — Cos 2«
13. Evaluate: dz
COS I — COS (¢

° Watch Video Solution



https://dl.doubtnut.com/l/_3YbXXANT7xgW
https://dl.doubtnut.com/l/_HOBQyHd5TLmF
https://dl.doubtnut.com/l/_9WcuwAljg04l
https://dl.doubtnut.com/l/_Zd9J7hHTVz1g

cosx — sinzx

14. Integrate the functions
& s N 2z

o Watch Video Solution

15. Integrate the functionstan® 2z sec 2z

° Watch Video Solution

16. Integrate the functionstan® z

° Watch Video Solution

3 3

sin” x + cos’ x

17. Integrate the functions 5

sin“ x cos? x

o Watch Video Solution



https://dl.doubtnut.com/l/_VvBe90y6vvpR
https://dl.doubtnut.com/l/_bzTesp1JWLiA
https://dl.doubtnut.com/l/_Y2ljcquvRuID
https://dl.doubtnut.com/l/_147up2s3rPD3

. cos2x + 2sin’z
18. Integrate the functions +

cos?
o Watch Video Solution
) 1
19. Integrate the functions —
sin z cosd x
o Watch Video Solution
CoSs 2x

20. Integrate the functions >
(cosx + sinz)

o Watch Video Solution

21. Integrate the functionssin ! (cos z)

o Watch Video Solution



https://dl.doubtnut.com/l/_147up2s3rPD3
https://dl.doubtnut.com/l/_Aswm4XXseHtV
https://dl.doubtnut.com/l/_DVKxu7uGsM80
https://dl.doubtnut.com/l/_PCvJqEfdpZ5u
https://dl.doubtnut.com/l/_3zTzCENuPbEa

1
22, Evaluate:/
cos(z — a)cos(x — b)

o Watch Video Solution

1

23. Integrate the functions
cos(xz — a)cos(x — b)

A.tanx + cosecr + ¢
B.—tanx + cotx + ¢

C.tanx + secx + ¢

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_3zTzCENuPbEa
https://dl.doubtnut.com/l/_ncN37PMkqF6W
https://dl.doubtnut.com/l/_VQ4A6bP2ugXu

1
24, /(ew e equals (A) —cot(exz®) +C (B)
cos?(e*)dx

tan(ze”) + C (C) tan(e®) + C (D) cot(e”) + C

A.tan(ze®) + ¢
B.tan(e”) + ¢

C.cot(e®) + ¢

Answer: b

o Watch Video Solution

3x2

1. Integrate :
8 x6 +1



https://dl.doubtnut.com/l/_E99HYbkhbyrM
https://dl.doubtnut.com/l/_fxeQYYKP4mUg

I o Watch Video Solution

1

2. Integrate the functions ———
V1 + 4z

o Watch Video Solution

1
3. Evaluate: / 5 dx
(2—z)"+1

° Watch Video Solution

1

V9 — 2522

4. Integrate the functions

o Watch Video Solution



https://dl.doubtnut.com/l/_fxeQYYKP4mUg
https://dl.doubtnut.com/l/_NrGZmZyYbrB7
https://dl.doubtnut.com/l/_r6ka6Ll4PmlG
https://dl.doubtnut.com/l/_OUQU5I9aPQvc

3z

5. Integrate the functions
1+ 224

o Watch Video Solution

5132

6.
1+ x6

° View Text Solution

o Watch Video Solution

2
. x
8. Integrate the functions
Vb + ab

o Watch Video Solution



https://dl.doubtnut.com/l/_LZmdoJe0QpxF
https://dl.doubtnut.com/l/_TzfcE0Fso0YU
https://dl.doubtnut.com/l/_VlKLPo9NEl2f
https://dl.doubtnut.com/l/_Wbb0tCUjIy78

sec2 i

\/tan2a:+4

9.Integrate the functions

° Watch Video Solution

1
Vi 4+ 2z + 2

10. Integrate the functions

° Watch Video Solution

1
922 + 62 + 5

11. Integrate the functions

° Watch Video Solution

1

12. Integrate the functions

VT — 6z — 22

| nlll s 1 wae* 1 o~ 1 e


https://dl.doubtnut.com/l/_Wbb0tCUjIy78
https://dl.doubtnut.com/l/_pxcsGQ2D2oc1
https://dl.doubtnut.com/l/_A9suS2uIrx75
https://dl.doubtnut.com/l/_rzskVluCs1TR
https://dl.doubtnut.com/l/_f8dtps7RQeFH

{ " Vvaldn viaco >O1ution

1

Vi(z —1)(z - 2)

13.

° View Text Solution

1
V8 + 3z — z2

14. Integrate the functions

° Watch Video Solution

1

15. Integrate the functions

NCEDICED

° Watch Video Solution

4r + 1
V2x? + 2 —3

16. Integrate the functions



https://dl.doubtnut.com/l/_f8dtps7RQeFH
https://dl.doubtnut.com/l/_uIyy9lXZR2va
https://dl.doubtnut.com/l/_xkThW22SfjJx
https://dl.doubtnut.com/l/_hBJi8IlwC7oU
https://dl.doubtnut.com/l/_388nu2Q8Wh8N

o Watch Video Solution

o Watch Video Solution

br — 2

18. Integrate the functions
+ 2z + 322

o Watch Video Solution

19.Eva|uate:/ ( bz + 7 dz

V(x —5)(z — 4)

o Watch Video Solution



https://dl.doubtnut.com/l/_388nu2Q8Wh8N
https://dl.doubtnut.com/l/_qEpUFlH3TlCy
https://dl.doubtnut.com/l/_iWQT8xuVHw6Z
https://dl.doubtnut.com/l/_GReHDbMW3kFN

) T+ 2
20. Integrate the functions

dx — x?

° Watch Video Solution

T+ 2

21. Integrate the functions

vz +2z+3

o Watch Video Solution

z+3

22. Integrate the functions
z2 —2x —5

° Watch Video Solution

5 3
23. Evaluate: / Tt dx
V2 + 4z + 10

o Watch Video Solution



https://dl.doubtnut.com/l/_HKDg5TBNojKq
https://dl.doubtnut.com/l/_KIe1WybVr6UR
https://dl.doubtnut.com/l/_REG2nJoD0k8G
https://dl.doubtnut.com/l/_Pnm7f7yCf3PN

dz
24, equals(A ztan Yz + 1)+ C B
/x2+2x+2q (A) ( ) (B)

ta,n_l(w +1)+C0Q) (z + 1)1:an_1 z+CDtan 'z +C

Atan !(z +1) +C
B.(z + 1)tan 'z + C

Ctan 'z +C

Answer: b

° Watch Video Solution

25. —————equals(A) —sin +C (B)
V9 — 422 9 8

1. (/8 —9 1, /92 -8
Esm ( 9 )—l—C(C) gsm ( 3 )—l—C (D)



https://dl.doubtnut.com/l/_Pnm7f7yCf3PN
https://dl.doubtnut.com/l/_F4Nn4LpvYEOX
https://dl.doubtnut.com/l/_3zdgORW3Mqs1

1, /8 -9
A.Esm ( 5 )—i—C’
1 9 — 8
B gsin_l( w8 )—i—C
1. /92 -8
C.Esm ( 5 )—l—C
D.
Answer: b

o Watch Video Solution

Z

1. Integrate,

(z +1)(z + 2)

° View Text Solution



https://dl.doubtnut.com/l/_3zdgORW3Mqs1
https://dl.doubtnut.com/l/_QaS57NkBxBjt

1
2./ dzx
2 —9

o Watch Video Solution

3z —1
3'/(93 P Y

° Watch Video Solution

(z —1)(x — 2)(z — 3)

4.

° Watch Video Solution

2x
5./ dzx
x?2 + 3x + 2

o Watch Video Solution



https://dl.doubtnut.com/l/_Co66SB55Xbfr
https://dl.doubtnut.com/l/_Cj04Xz4SIClc
https://dl.doubtnut.com/l/_xYUV9eIm28Sw
https://dl.doubtnut.com/l/_DoVtMV3ZSEJJ

1— x2

6.Integrate —M —
8 z(1l — 2z)

o Watch Video Solution

/@ﬂ+§@—1ﬂw

o Watch Video Solution

Z

8.
(z —1)*(z + 2)

o Watch Video Solution

3 5
9./ LY .dx
3 — 22—z +1


https://dl.doubtnut.com/l/_DoVtMV3ZSEJJ
https://dl.doubtnut.com/l/_FQCfWDkyjE2Z
https://dl.doubtnut.com/l/_TTmZxcxDbH6v
https://dl.doubtnut.com/l/_tv2i1Xixw8di
https://dl.doubtnut.com/l/_2WpsdeGl8RLh

o Watch Video Solution

2r — 3
10. Evaluate :/ 5 dx
(z —1)°(2z + 3)

° Watch Video Solution

oT
11. Integrate the rational functions

(z + 1)(x% — 4)

o Watch Video Solution

3+ +1

12.
x2 —1

° Watch Video Solution



https://dl.doubtnut.com/l/_2WpsdeGl8RLh
https://dl.doubtnut.com/l/_Et53I0gRTnr6
https://dl.doubtnut.com/l/_PToEvdjeeod1
https://dl.doubtnut.com/l/_QC1MMXA9TrGx

2

B3 (1—2)(1+ x?)

o Watch Video Solution

3z — 1
14./m—2da:
(z —2)

o Watch Video Solution

1

15.
xt —1

o Watch Video Solution

16. Integrate the rational functions [Hint: multiply

z(zm + 1)

numerator and denominator by " ~!and put z" = t]

| o S |


https://dl.doubtnut.com/l/_MjzzFKDMV1uF
https://dl.doubtnut.com/l/_Weo6QgOpoz0C
https://dl.doubtnut.com/l/_4XSu8FLvT16r
https://dl.doubtnut.com/l/_NhQUIDsUdXlB

[ @ Watch Video Solution

CoOS T

17. Integrate the rational functions - -
(1 —sinz)(2 — sinx)

[Hint: Puts € = = t]

o Watch Video Solution

(22 + 1) (22 + 2)
18. / 3 ) dr

° Watch Video Solution

19. Evaluate :

/ 2x
dr
(22 + 1) (2 + 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_NhQUIDsUdXlB
https://dl.doubtnut.com/l/_gCsBt06i9ROV
https://dl.doubtnut.com/l/_mTqk2EdyTjHZ
https://dl.doubtnut.com/l/_WcIBIEZnUXU6

20, /:C($4—1_1)

° Watch Video Solution

1

21. m

° Watch Video Solution

xdx
22, /(a: "z =9 equals :

A log

r—1)\2
B.log(w_2) +C

z—1)\2
C.log( ) +C



https://dl.doubtnut.com/l/_BgRm7CtTblU5
https://dl.doubtnut.com/l/_oBTNc640H7R5
https://dl.doubtnut.com/l/_v9icAvNeQEPn

Answer: B

o View Text Solution

dx
23. |———— equals
/:1:(:1:2 +1) a8

1
A log|z| + Elog(w2 +1)+C
1 2
B. —log|z| + §log(w +1) +C
1 2
C. Elog|w| +log(z® +1) + ¢

D.

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_v9icAvNeQEPn
https://dl.doubtnut.com/l/_LZKT5v1FXBiW

1.integrate the function x sinx

° Watch Video Solution

2. Evaluate f): sin 3xdzx.

o Watch Video Solution

3.22e”

o View Text Solution

4.xlogx

o Watch Video Solution



https://dl.doubtnut.com/l/_BCPYgeK1aB0s
https://dl.doubtnut.com/l/_K4FLOR9ofhq0
https://dl.doubtnut.com/l/_YbGxhJqNlHGU
https://dl.doubtnut.com/l/_b7Id8SQBVkxz

5. x log 2z

o Watch Video Solution

6. 2% logx

o View Text Solution

7. /m sin~ ! zdzx

° Watch Video Solution

8.xtan 'z

I o View Text Solution


https://dl.doubtnut.com/l/_b7Id8SQBVkxz
https://dl.doubtnut.com/l/_tVSoRSBhVkXQ
https://dl.doubtnut.com/l/_K91UAmUVOHAD
https://dl.doubtnut.com/l/_NgJMeeuBQqU9
https://dl.doubtnut.com/l/_NlmWIwEAVhEF

9. Integrate x cos 1y

° Watch Video Solution

10. Evaluate: /(sin_1 a:)2 dx

o Watch Video Solution

1

TCOS I
11. Evaluate: /— dzx
V1— g2

o Watch Video Solution

12. Integrate the functionsz sec?



https://dl.doubtnut.com/l/_NlmWIwEAVhEF
https://dl.doubtnut.com/l/_l1qpJG0gbWle
https://dl.doubtnut.com/l/_80GpBsSKr3d3
https://dl.doubtnut.com/l/_yKRQZI6tq9Qy
https://dl.doubtnut.com/l/_rk4SABkjsKgp

_ o Watch Video Solution

13.tan 'z

o Watch Video Solution

14, /B(log x)zdw

o Watch Video Solution

15. (z° + 1)log

o Watch Video Solution

16. Example: e”(sinz + cos z)dx


https://dl.doubtnut.com/l/_rk4SABkjsKgp
https://dl.doubtnut.com/l/_AjhJVx4vvqrK
https://dl.doubtnut.com/l/_qDjFzL3BmX92
https://dl.doubtnut.com/l/_hiej1upG1eC7
https://dl.doubtnut.com/l/_DIgyAAnxTAHr

o Watch Video Solution

17./L2dw
(1+ )

o Watch Video Solution

8, /(H_n)d
1+ coszx

° Watch Video Solution

19. Integrate the functionse” (

1

Z

1

r2

)

o Watch Video Solution



https://dl.doubtnut.com/l/_DIgyAAnxTAHr
https://dl.doubtnut.com/l/_PBGMnaSwxDql
https://dl.doubtnut.com/l/_DdgreX9MXhP7
https://dl.doubtnut.com/l/_fzm5jtUgzPmd

(z — 3)e”
20. Evaluate /—3 dx
(z 1)

° Watch Video Solution

21. Integrate the functionse®” sin

o Watch Video Solution

1
2
22./ sin_l( v )dm
0 1+ 22

° Watch Video Solution

23. Choose the correct answer f£2ew

1 1
ge”“3+0 (B) ge’“2+(J (Q)

" 3dx equals (A)

1
Eez A3—|—C’

(D)


https://dl.doubtnut.com/l/_igVhn6UW3su6
https://dl.doubtnut.com/l/_jcq04OJ3k5bd
https://dl.doubtnut.com/l/_nSVev4QVlaRn
https://dl.doubtnut.com/l/_alynm9MNJGbQ

C.—e* +C
D.
Answer: a

° Watch Video Solution

24. Evaluate: ﬁe‘” secz (1 + tanz) dz

A e*secx +C
B.esinxz + C

C.eftanxz + C


https://dl.doubtnut.com/l/_alynm9MNJGbQ
https://dl.doubtnut.com/l/_LsHkdTcDBxr8

Answer: b

o Watch Video Solution

1. Integrate the functions/4 — z°

° Watch Video Solution

2. Integrate the functionsy/1 — 4a:?

o Watch Video Solution



https://dl.doubtnut.com/l/_LsHkdTcDBxr8
https://dl.doubtnut.com/l/_agoPziNGKf2H
https://dl.doubtnut.com/l/_wr2Sqw5fbord
https://dl.doubtnut.com/l/_NursxLRxhAgE

3. Integrate the functions\/a:2 + 4z 4+ 6

° Watch Video Solution

4.Integrate the functions\/ac2 +4z +1

o Watch Video Solution

5.Integrate the functions\/l — 4z — 2*

o Watch Video Solution

6. Integrate the functions\/az2 + 4 —5

o Watch Video Solution



https://dl.doubtnut.com/l/_NursxLRxhAgE
https://dl.doubtnut.com/l/_CRZW3Jzfa5xT
https://dl.doubtnut.com/l/_utndFAXTxlAk
https://dl.doubtnut.com/l/_q9wiiocGcFFQ
https://dl.doubtnut.com/l/_cj6oOiVJpxOi

7. Evaluate: /\/1 + 3z — z’dx

° Watch Video Solution

8. Integrate the functions/z? + 3z

° Watch Video Solution

2
9.Integrate the functions’ /14 %

° Watch Video Solution

10. Choose the correct answer /\/a + z%dz is equal to (A)
T

5 1+m2+%1og|(x+\/m)‘+c (B)


https://dl.doubtnut.com/l/_cj6oOiVJpxOi
https://dl.doubtnut.com/l/_878rpCgvkDi9
https://dl.doubtnut.com/l/_Q8AfQK1VRxF7
https://dl.doubtnut.com/l/_kHCASBwYwBgb

2 3

Se(1+2) 40 D
CB

a: log)a:—i—\/l—i—x ’—I—C

(1+x2)%+0

Wl W

33(1+w2)% + C

C.—\/l—i—a: xlog‘x—i—\/l—i—x)—l—C

Answer: A

° Watch Video Solution

1. Choose the correct answer /\/x2—8x+7dw (A)
1

E(m—4)\/$2—8w—|—7—|—910g‘w—4—|— \/m2—8w—|—7)—|—0
(B)
1
5(w+4)\/w2—8m+7—|—910g‘x—|—4—|— \/$2—8w—|—7)—|—0



https://dl.doubtnut.com/l/_kHCASBwYwBgb
https://dl.doubtnut.com/l/_PPaAXPc4oJb7

(€)

1
5(3:—4)\/332—8:1:+7—3\/§10g‘a:—4+ Vi -8z + 7+ C

(D) "1/2(x-4)sqrt(x"2-8x+7)-

1
A.E(a:+4)\/m2 — 8 + 7

+910g\x+4+\/x2—8:c+7\ +C

(x — 422 — 8z + 7

N | =

B.

~3v3log |z — 4+ /2’ 8z + 7| +C

1
CE(:L' — )z -8z + 7

9
—Elog\x—4+\/x2—8x+7\ +C

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_PPaAXPc4oJb7

b
1. / zdxr

o View Text Solution

2./05(w + 1)dz

o Watch Video Solution

3
3./ rldz
2

° Watch Video Solution



https://dl.doubtnut.com/l/_HVkfs1x02PNf
https://dl.doubtnut.com/l/_jHnGDEAqEVk5
https://dl.doubtnut.com/l/_8Uy0tItZtJ6u

o Watch Video Solution

1
5./ etdx
1

o View Text Solution

4
6. Find is sum of limit / (a: + e2$)dx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_tgQAq0wVMrsU
https://dl.doubtnut.com/l/_Dj0ikqp1I1AR
https://dl.doubtnut.com/l/_yfleOpLJtfpl

o View Text Solution

31
2. Evaluate:/ —dx
2 m

o Watch Video Solution

3. Evaluate the definite integrals /12(4:133 — 5z + 62 + 9) dx

° Watch Video Solution

™

4./4sin2azda3
0

o Watch Video Solution



https://dl.doubtnut.com/l/_KwVtjPnVq5aE
https://dl.doubtnut.com/l/_ckeKrUEnQTM3
https://dl.doubtnut.com/l/_P5Sd9S8lwb9H
https://dl.doubtnut.com/l/_5cHF7xzFH9z0

5. / ’ cos 2zdx
0

° View Text Solution

6. Evaluate the definite integralsfl5emda:

o Watch Video Solution

7.Evaluate the definite integrals /)%tan xdx

o Watch Video Solution

INE

8. / cosec zdzx
6



https://dl.doubtnut.com/l/_5cHF7xzFH9z0
https://dl.doubtnut.com/l/_Xz7H9qaBCWaM
https://dl.doubtnut.com/l/_Z6AC6tShHhx1
https://dl.doubtnut.com/l/_fIRtGxJszxai
https://dl.doubtnut.com/l/_MrzF6p3InKJI

| @ View lext Solution

o Watch Video Solution

L dx
10. Evaluate :/
0o 1422

o Watch Video Solution

/3 dx
1.
9 1?2 -1

o Watch Video Solution



https://dl.doubtnut.com/l/_MrzF6p3InKJI
https://dl.doubtnut.com/l/_tOFei1ueLuPO
https://dl.doubtnut.com/l/_kRbEYDvL9X2P
https://dl.doubtnut.com/l/_MUT3Ug6IMOeI

2 2
12. cos” zdx
0

° View Text Solution

3 xdx
3. /
) 562 + 1

o View Text Solution

1 92 +3
14./ LTES
0 5$2+1

° Watch Video Solution

1
15./ ze® dx
0

o View Text Solution



https://dl.doubtnut.com/l/_G4OquQSqVYve
https://dl.doubtnut.com/l/_yYnTw0g8cIxk
https://dl.doubtnut.com/l/_BNUp68qpbQJM
https://dl.doubtnut.com/l/_nmmGRWyKkg65

2 5.’E2
16. dx
1 z2+ 4z + 3

° Watch Video Solution

17. Evaluate the definite integrals ﬁ)% (2 sec’z + x° + 2) dx

o Watch Video Solution

.2 2
18. Evaluate the definite integrals /)7!‘ ( sm2 z_ COS2 ? )dx
o Watch Video Solution
6 3
19. Evaluate the definite integrals /)2 T dr
z? + 4

.Y


https://dl.doubtnut.com/l/_nmmGRWyKkg65
https://dl.doubtnut.com/l/_RPgDN5YiZsLK
https://dl.doubtnut.com/l/_MWCrfGpOelKe
https://dl.doubtnut.com/l/_HfP5d8KnKLs4
https://dl.doubtnut.com/l/_FOWW0JN2HOLa

| ™ Vvvalch video ooilution ]

20.'/01 (a:ew + sin(w%))dw

o Watch Video Solution

dx
1+ z2

7
21. Choose the correct answer /1\/5 equals (A) 3 (B)

2 c ™ b ™
5 (O 5 (0 15
A27r
"3
B7r
"6
c T
12
D.
Answer: d

| ° Watch Video Solution


https://dl.doubtnut.com/l/_FOWW0JN2HOLa
https://dl.doubtnut.com/l/_otnv7Vi3KryS
https://dl.doubtnut.com/l/_vErCbc8TAw3p

2 dzx

22.Choose the correct answer / gm (A) % (B) % (C)

Answer: ¢

° Watch Video Solution

Exercise 7.10



https://dl.doubtnut.com/l/_vErCbc8TAw3p
https://dl.doubtnut.com/l/_7rpwNpLCHnpq

1
1./ v dzx
0 2+ 1

o View Text Solution

2. / : \/ sin ¢ cos® p&edd; ¢
0

o Watch Video Solution

1
2
3./ sin_l( v )dm
0 1+$2

° Watch Video Solution

2
4./ zy/x + 2dz (put x+2
0

o View Text Solution



https://dl.doubtnut.com/l/_ct4eSRBgPUDf
https://dl.doubtnut.com/l/_cIBi6RPXeoIm
https://dl.doubtnut.com/l/_5HHlXoCHkpDK
https://dl.doubtnut.com/l/_CJdOoqdAnxGy

7 sinz
5./ —dw
o 1+ cos?z

° View Text Solution

dx

6. Evaluate the integrals /02—
x+4— x2

o Watch Video Solution

dx

7.Evaluate the integrals /— 11
2?2+ 2z +5

o Watch Video Solution



https://dl.doubtnut.com/l/_CJdOoqdAnxGy
https://dl.doubtnut.com/l/_b7KQ0FRu2Y3m
https://dl.doubtnut.com/l/_x0WZjbDrllw1
https://dl.doubtnut.com/l/_sSvbH9z1PwZm
https://dl.doubtnut.com/l/_h9QwWRT0A9Hf

[ W Watch Video Solution ]

9. Choose the correct answer The value of the integral

1 (e )"
/—1—da: is(A)6(B)0(C)3 (D)4

3 x4
A.O
B.3

C. 4

Answer: a

° Watch Video Solution

10. If f(x) :/ t sint dt tehn f(x)is
0


https://dl.doubtnut.com/l/_h9QwWRT0A9Hf
https://dl.doubtnut.com/l/_EWbuDUWPwo3O
https://dl.doubtnut.com/l/_Tmf6epPZtwuX

A. X sin x

B. x cos x

C. sin x+x cos X

Answer: b

o View Text Solution

Exercise 7.11

)
1. cos” xdx
0

° View Text Solution



https://dl.doubtnut.com/l/_Tmf6epPZtwuX
https://dl.doubtnut.com/l/_ay6TlMNX0xov

dx

5 /§ v/sinz
"Jo Vsinz + (/cosz

o Watch Video Solution

L[ e,
0 sin®/2 2 + cos3/2

o Watch Video Solution

4 /5 cos® zdzx
0o sin®z + cos®z

o Watch Video Solution

5
5./ |z + 2|dz

5

o Watch Video Solution



https://dl.doubtnut.com/l/_qLySdEcmKCno
https://dl.doubtnut.com/l/_1KEYDGzLcOMt
https://dl.doubtnut.com/l/_QvDBQAWZLPMU
https://dl.doubtnut.com/l/_wOVH99W84Nuh

8
6./ |z — 5|dx
2

o Watch Video Solution

1
7.Find the value of/ (1l —z)"d=x
0

o Watch Video Solution

us

1
8. Evaluate : / log(1 + tanx)dx-
0

° Watch Video Solution

2
9./ r\/2 — xdx
0

Y 2


https://dl.doubtnut.com/l/_wOVH99W84Nuh
https://dl.doubtnut.com/l/_djV4PdEou2EX
https://dl.doubtnut.com/l/_PRZlY50HcrgE
https://dl.doubtnut.com/l/_rwyaOnq57Vnf
https://dl.doubtnut.com/l/_YnPGi4VMQyhb

| o Watch Video Solution

Y]

10. Evaluate : / (2logsinx — logsin2x) dx
0

o Watch Video Solution

T
2

]

11./ sin® zdx

Watch Video Solution

12./ ——dz
o l+sinz

o Watch Video Solution



https://dl.doubtnut.com/l/_YnPGi4VMQyhb
https://dl.doubtnut.com/l/_hV3oqADLgNcf
https://dl.doubtnut.com/l/_YxzKIWCPKJbq
https://dl.doubtnut.com/l/_yA1ODBFsL7Jv

ER
13./ sin' zdx

NIE]

° Watch Video Solution

2
14. Evaluate: / cos’ z dz
0

o Watch Video Solution

2 sinx — coszx
15. - dz
o l-+sinzcosz

o Watch Video Solution

16./ log(1 + cos z)dzx .
0

o Watch Video Solution



https://dl.doubtnut.com/l/_Ck9iysqeYgRL
https://dl.doubtnut.com/l/_b1SGZdFHdYLp
https://dl.doubtnut.com/l/_9XnpFi98QSC0
https://dl.doubtnut.com/l/_xIpUTSflbibT

17. By using the properties of definite integrals, evaluate the

x
integrals /Oa Ve dx

VT +a—x

° Watch Video Solution

a
18./ |z — 1|dz
0

° View Text Solution

19. Show that ﬁ)af(:c)g(w)dm = Zﬁ)af(x)da: if f and g

defined as flz) = fla—2x) and

g(z) +gla—z)= 4

° Watch Video Solution



https://dl.doubtnut.com/l/_xIpUTSflbibT
https://dl.doubtnut.com/l/_1AB0ymmLQARe
https://dl.doubtnut.com/l/_MqWicZw7Mz2e
https://dl.doubtnut.com/l/_q5ruErEhuCXC

s
2

20. The value of/ (333 + xcosz + tan® z + 1)d:13

N B

A2

B. PI

C.1

Answer: C

° Watch Video Solution

L 4 .
21. Evaluate: / ’ log(m>dw
0 4+ 3cosz

A3
4

B.O


https://dl.doubtnut.com/l/_JVgz2AGEqgIs
https://dl.doubtnut.com/l/_pL1piYEs0J2W

Answer: C

° Watch Video Solution

Miscellaneous Exercise

1. Integrate the function

x — x3

o Watch Video Solution

1
2./ dx
Jr+a+x+b

o Watch Video Solution



https://dl.doubtnut.com/l/_pL1piYEs0J2W
https://dl.doubtnut.com/l/_muN93gzr7RrZ
https://dl.doubtnut.com/l/_KxsRozyKsYQ7

1 a
3. [Hint : Put x = —]
xvaxr — x? t

o Watch Video Solution

1
4./ ~dx
2(.’,84 + 1)2

Z

o Watch Video Solution

1
5./—dw
1 1
T2 + T3

° Watch Video Solution

Sx

6. Integrate the functions
(z +1)(x2 +9)

[ &


https://dl.doubtnut.com/l/_KxsRozyKsYQ7
https://dl.doubtnut.com/l/_sk9jLnx1QrZc
https://dl.doubtnut.com/l/_O6fpZyhlQW7L
https://dl.doubtnut.com/l/_oQ4pcWt8B5Mg
https://dl.doubtnut.com/l/_unolBrOQo2kG

[ W Watch Video Solution ]

7. /&d:ﬂ = Az + Blog(sin(z — a)) + C then find
sin(z — «)

out A&B

o Watch Video Solution

eSlogm _ e410g:c
8. ; dr
e310g:/1c — e2logz

° Watch Video Solution

CoOs T

4 —sin’z

o Watch Video Solution



https://dl.doubtnut.com/l/_unolBrOQo2kG
https://dl.doubtnut.com/l/_OTh8rzvCLxq3
https://dl.doubtnut.com/l/_KPBSa8IIpR9L
https://dl.doubtnut.com/l/_I1mIQh9ptYuI

sinfz — cosd x
10. 5 dr =
1 — 2sin”“ x cos? x

° Watch Video Solution

1

11. Integrate the functions
8 cos(z + a)cos(x + b)

° Watch Video Solution

3

12, —
V1 — 8

o Watch Video Solution

b /(1 Tzt

° Watch Video Solution



https://dl.doubtnut.com/l/_Pt965BFRI43C
https://dl.doubtnut.com/l/_83vpQEFaPIXE
https://dl.doubtnut.com/l/_CMkBVXNgZ6ZE
https://dl.doubtnut.com/l/_HdlCKJiucam7

1
14. Evaluate: / dx
(22 + 1)(x? + 4)

2

1

-1 1 -1
A.tan "z + —tan (
B.tan (

— —tan
T 5 n

tan

)+

w| = w|r
1

1
tan 'z + Etan_1 %) +C

Answer: C

o Watch Video Solution

15. cos® zelogsin®

o Watch Video Solution



https://dl.doubtnut.com/l/_HdlCKJiucam7
https://dl.doubtnut.com/l/_kEbl1OPJALrA
https://dl.doubtnut.com/l/_DXuCmZe4lH9m
https://dl.doubtnut.com/l/_ZTFsviYxl0NR

16. Evaluate: ‘/6310“(3;4 + 1) -1 dx

° Watch Video Solution

17. Integrate the functions f’ (azx + b)[f(az + b)]"

o Watch Video Solution

1

18. Integrate the functions

3

sin® z sin(z + )

° Watch Video Solution

19. Integrate the functions

sin~'yx —cos 1z
— T
sin~ ! vz + cos—lﬁ,

€ [0, 1]

o Watch Video Solution



https://dl.doubtnut.com/l/_ZTFsviYxl0NR
https://dl.doubtnut.com/l/_NH3M0OX8Jwoe
https://dl.doubtnut.com/l/_Z4pkJjtJMMby
https://dl.doubtnut.com/l/_JpKkiJ427S63

]__
20./ —\/Ed:c:
1+ vz

o Watch Video Solution

: 2 + sin2x
) 1—|—coszwe

T

o Watch Video Solution

2 +x+1

22.
(z + 1)*(z +2)

o Watch Video Solution

1—=x

d
1+ T

23. Evaluate: fcan_ 1

[


https://dl.doubtnut.com/l/_JpKkiJ427S63
https://dl.doubtnut.com/l/_zhxbKtFkkece
https://dl.doubtnut.com/l/_nUokfcCERz0f
https://dl.doubtnut.com/l/_PDembDV9Zf2A
https://dl.doubtnut.com/l/_qCrxHikwa3A0

| @ Watch Video Solution

Va? + 1[log(z? + 1) — 2logz]
24.Integrate the functions

s

o Watch Video Solution

T 1 —sinz
2 [ (15 ),
= 1—cosz
2

o View Text Solution

2 I sSInxcoszT
26. dr =
0

costz + sin* z

o Watch Video Solution



https://dl.doubtnut.com/l/_qCrxHikwa3A0
https://dl.doubtnut.com/l/_XTP4AvSity2K
https://dl.doubtnut.com/l/_Hl18SDAej4iI
https://dl.doubtnut.com/l/_goWbLc7erOTu

z 2
2 cos” xdx
27./ 2
0 cos’iz + 4sin‘zx

o View Text Solution

3 sin + cosx
2. [° dz

z v/sin 2z

° Watch Video Solution

1
1
29./ dx
0o JV1+z—/x

° Watch Video Solution

30./3 sina:—|—.cosacdw
o 9+ 16sin2z


https://dl.doubtnut.com/l/_cDKvkHU0t9zD
https://dl.doubtnut.com/l/_n5PDjcUC1owO
https://dl.doubtnut.com/l/_c91vkbY21ZXh
https://dl.doubtnut.com/l/_dJBsNk01QTBN

1
" 40
1
" 20

log9
log9
C ! log 3
40 8

D. None of these

Answer: A

o Watch Video Solution

31./Zsin2x tan ! (sinz)dz
0

° Watch Video Solution

rtanzx

™
32. Evaluate: / dx
o secx + tanz

° Watch Video Solution



https://dl.doubtnut.com/l/_dJBsNk01QTBN
https://dl.doubtnut.com/l/_Bc2dsaBawIt0
https://dl.doubtnut.com/l/_J1tZt3Y5siPb

33. Evaluate the definite

/14[x—1|+|m—2|+|:c—3\]da:

integrals

° Watch Video Solution

34/3 de 2+1 2
o ———==+1og <
1 2?(z+1) 3 &3

° Watch Video Solution

1
35./ zetdr =1
0

° Watch Video Solution



https://dl.doubtnut.com/l/_J1tZt3Y5siPb
https://dl.doubtnut.com/l/_57GagzYdd3dh
https://dl.doubtnut.com/l/_7cCbWf6Af8C7
https://dl.doubtnut.com/l/_QRISDz5L8DVi

1
36./ 2 cos? zdz = 0
1

o Watch Video Solution

3

. 3 2
37. sin®’ zdx = —
0 3

o Watch Video Solution

s

38./4 2tan’® zdz = 1 — log 2
0

o Watch Video Solution

1
39./ sin ! zdz = T 1
0 2

° Watch Video Solution



https://dl.doubtnut.com/l/_i6Ypmbg0RL0f
https://dl.doubtnut.com/l/_PnaOg4NYSsoN
https://dl.doubtnut.com/l/_FybqX1m3LuCM
https://dl.doubtnut.com/l/_0PR9B9ymP8EO

40. Evaluate /0162_3‘”dwas a limit of a sum.

° Watch Video Solution

dx )
41. |[———isequal to
et +e *

A.tan” (") + C
B.log(e” —e™ %) + C
C. log(e”” + e_””) +C

D.tan ! (ezm) +C

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0PR9B9ymP8EO
https://dl.doubtnut.com/l/_NozmBWaBzCZf
https://dl.doubtnut.com/l/_VFxgnRaWqM45
https://dl.doubtnut.com/l/_qiJwFO74vdKi

cos 2x .
42, / 5 dr isequalto:
(sinz + cos x)

A log|sinz + cosz| + C

B.log|sinz — cosz| + C

1
C. 5
(sinz + cos x)
D.
Answer: b

° Watch Video Solution

b
43.If = / |f(z)|dx, a < b, then f(z) = 0 has

/a b f(z)da

b
A (b) “‘2”’/ f(b+ z)de

b
B. b ; a/a f(z)dx



https://dl.doubtnut.com/l/_qiJwFO74vdKi
https://dl.doubtnut.com/l/_TycMTeL68pgz

b
c.2 —2|_ b/a f(z)dx

Answer: N/A

° Watch Video Solution

2z — 1

44.The value of ‘/Jl tan ! (—
142 — 22

D _

AO

] 3

Answer: N/A


https://dl.doubtnut.com/l/_TycMTeL68pgz
https://dl.doubtnut.com/l/_CmqF3pZ4bn5C

o Watch Video Solution



https://dl.doubtnut.com/l/_CmqF3pZ4bn5C

